# 論文著述:

## 五年內期刊論文:

- 1. Shih-Song Cheng, <u>Paul C.-P. Chao\*</u>, "An Ultra-High 6318 PPI Pixel Circuit for Micro OLED Displays with Vth Compensated up to 10-bit Gray Levels," Dec 2023, *IEEE Journal of Solid-State Circuits Letters*, accepted. (**SCI Journal**, Impact Factor = 6.126, Ranking = 57/708 (0.080), Instruments & Instrumentation).
- 2. Shih-Song Cheng, <u>Paul C.-P. Chao\*</u>, "A High 6318-PPI Pixel Circuit That Realizes 10-bit Gray Levels for Analog-PWM Driven Micro-LED Displays," Dec 2023, *IEEE Transations on Electron Devices*, accepted. (SCI Journal, Impact Factor = 3.221, Ranking = 183/708 (0.258), Electrical and Electronic Engineering)
- 3. Shih-Song Cheng, <u>Paul C.-P. Chao\*</u>, "A High 5292-PPI Pixel Circuit for Micro Displays with 10-bit Gray Levels Realized via the Technique of Analog Sub-Frame Integral," Aug 2023, *IEEE Journal of the Electron Devices Society*, vol. 11, pp. 456-466. (SCI **Journal**, Impact Factor = 2.523, Ranking = 150/276 (0.543), Electrical and Electronic Engineering)
- 4. Shih-Song Cheng, <u>Paul C.-P. Chao\*</u>, "A New SRAM-Embedded Pixel Circuit That Modulates Accurately Gray Level for PWM-Driven Micro-LED Displays," June 2023, *IEEE Solid-State Circuits Letters*, vol. 6, pp. 157-160. (**SCI Journal,** Impact Factor = 2.7, Ranking = 14/72 (0.194), Instruments & Instrumentation).
- 5. Smriti Thakur, <u>Paul C.-P. Chao\*</u> and Cheng-Han Tsai, "Precision Heart Rate Estimation Using a PPG Sensor Patch Equipped with New Algorithms of Pre-Quality Checking and Hankel Decomposition," July 2023, *Sensors*, vol. 23, Iss 13, pp. 6180. (**SCI Journal**, Impact Factor = 3.9, Ranking = 19/63 (0.301), Instruments & Instrumentation).
- 6. Jun-Lin Lin, Pao-Ying Zheng and <u>Paul C.-P. Chao\*</u>, 2023, "A new ECC implemented by FPGA with favorable combined performance of speed and area for lightweight IoT edge devices," *Microsystem Technologies*, Access 176, 2023. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 7. I-Feng Chang, Hao-Ren Chen and <u>Paul C.-P. Chao\*</u>, 2023, "Design and Implementation for a High Efficiency Hardware Accelerator to Realize the Learning Machine for Predicting OLED Degradation," *Microsystem Technologies*, vol. 29, pp. 1069–1081, January 2023. (SCI Journal, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 8. Yi-Chang Lee, Jen-Yi Hsu and <u>Paul C.-P. Chao\*</u>, 2023, "Design and Implementation of Machine Learning Models to Classify and Mitigate Muras of a Micro-LED Display," *Microsystem Technologies*, vol. 29, pp. 1083–1098 29, Apr 2023. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 9. Chun-Heng You, Shuen-Ming Tsai and <u>Paul C.-P. Chao\*</u>, 2023, "A novel clock recovering circuit to thwart clock glitch attacks on ring-oscillator-based TRNGs in edge devices like sensors," *Microsystem Technologies*, vol. 29, pp. 1137–1145, Apr 2023. (SCI Journal, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 10. Duc Huy Nguyen, Paul C.-P. Chao\*, Chih-Chieh Chung, Ray-Hua Horng, Bhaskar Choubey,

- 2022, "Detecting Atrial Fibrillation in Real Time Based on PPG via Two CNNs for Quality Assessment and Detection," *IEEE Sensors Journal*, vol. 22, no. 24, 1 pp. 24102-24111. (**SCI Journal**, Impact Factor = 4.61, Ranking = 14/72 (0.194), Instruments & Instrumentation).
- 11. W.-W. Yen, <u>Paul C.-P. Chao</u>\*, 2022, "A ZVS Phase-Shift Full-Bridge Converter with Input Current Steering to Reduce EMI noise," *IEEE Transactions on Power Electronics*, vol. 37, iss. 10, pp. 11937-11950. (SCI Journal, Impact Factor = 6.153, Ranking = 26/344 (0.076), Electrical and Electronic Engineering).
- 12. <u>Paul C.-P. Chao</u>\*, Shih-Song Cheng, Chiu-Hao Chen, and Kuei-Yu Lee, 2022, "A New IRdrop Model that Improves Effectively the Brightness Uniformity of an AMOLED Panel," *IEEE Journal of the Electron Devices Society*, vol. 10, pp. 627-636. (**SCI Journal, Impact Factor** = 2.523, Ranking = 150/276 (0.543), Electrical and Electronic Engineering).
- 13. Duc Huy Nguyen, <u>Paul C.-P. Chao\*</u>, Hong-Han Shuai, Yu-Wei Fang, and Bing Shi Lin, 2022, "Achieving High Accuracy in Predicting Blood Flow Volume at the Arteriovenous Fistulas of Hemodialysis Patients by Intelligent Quality Assessment on PPGs," *IEEE Sensors Journal*, vol. 22, iss. 6, pp. 5844 5856. (SCI Journal, Impact Factor = 4.325, Ranking = 14/72 (0.194), Instruments & Instrumentation).
- 14. Tongjun Liu, <u>Paul C.-P. Chao</u>, Bhaskar Choubey, 2022, "Enhanced sensory identification in arrays of coupled resonant sensors," *IEEE Sensors Journal*, vol. 22, Iss. 9, pp. 8557 8564. (**SCI Journal**, Impact Factor = 4.325, Ranking = 14/72 (0.194), Instruments & Instrumentation).
- 15. S. F. Lin, D. H. Nguyen, <u>Paul C.-P. Chao</u>\*, H. R. Chen, 2022, "Prediction of OLED Temperature Distribution Based on Neural Network," *Microsystem Technologies*, vol. 28, pp. 2215–2224. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 16. Phan Tan-Phat, <u>Paul C.-P. Chao\*</u>, Huang Zih-We, 2022, "Design and implementation of a new torque controller via FPGA for 6-DOF articulated robots," *Microsystem Technologies*, vol. 28, pp. 2259–2276. (SCI Journal, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 17. Rajeev Kumar Pandey and <u>Paul C.-P. Chao\*</u>, 2022, "Design and development of a photoplethysmography based microsystem for mental stress estimation," *Microsystem Technologies*, vol. 28, pp. 2277–2296. (SCI Journal, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 18. Rajeev Kumar Pandey, Eka Fitrah Pribadi and <u>Paul C.-P. Chao\*</u>, 2022, "Technology scaling impact on VLSI interconnect and low swing signaling technique," *Microsystem Technologies*, vol. 28, pp. 2337–2351. (SCI Journal, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 19. Eka Fitrah Pribadi, Rajeev Kumar Pandey and **Paul C.-P. Chao\***, 2022, "A New Delta-Sigma Analog to Digital Converter with High-Resolution and Low Offset for Detecting Photoplethysmography Signal," *Microsystem Technologies*, vol. 28, pp. 2369–2379. (SCI Journal, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).

- 20. C. K. Tasu, D. H. Nguyen, Bhaskar Choubey and <u>Paul C.-P. Chao</u>\*, 2022, "High-performance infrared image processing with gray-scale dynamic range correction implemented by FPGA," *Microsystem Technologies*, vol. 28, pp. 2235–2248. (SCI Journal, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 21. Rajeev Kumar Pandey and <u>Paul C.-P. Chao</u>\*, 2022, "A Dual-Channel PPG Readout System with Motion Tolerant Adaptability for OLED-OPD Sensors," *IEEE Transactions on Biomedical Circuits and Systems*, vol. 16, no. 1, pp. 36-51. (**Invited Paper** for the Special Issue of ISCAS 2021, **SCI Journal**, Impact Factor = 5.234, Ranking = 59/276 (0.213), Eng., Electrical & Electronics)
- 22. <u>Paul C.-P. Chao\*</u>, Chih-Cheng Wu, Duc Huy Nguyen, Ba-Sy Nguyen, Pin-Chia Huang and Van-Hung Le, 2021, "The Machine Learnings Leading the Cuffless PPG Blood Pressure Sensors into the Next Stage," *IEEE Sensors Journal*, vol. 21, iss. 11, pp. 12498-12510. (Invited Paper for celebrating the 20<sup>th</sup> Anniversary of the IEEE Sensors Journal, SCI Journal, Impact Factor = 4.325, Ranking = 14/72 (0.194), Instruments & Instrumentation).
- 23. Wan-Yu Wu, Yu-Hsuan Hsu, Yi-Fan Chen, Yuh-Renn Wu, Han-Wen Liu, Tse-Yi Tu, <u>Paul P.-C. Chao</u>, Chih-Shan Tan, and Ray-Hua Horng, 2021, "Wearable Devices Made of a Wireless Vertical-Type Light-Emitting Diode Package on a Flexible Polyimide Substrate with a Conductive Layer," *ACS Applied Electronic Materials*, vol. 3, iss. 2, pp. 979-987, DOI: 10.1021/acsaelm.0c0107. (**SCI Journal,** Impact Factor = 4.494, Ranking = 77/276 (0.27), Engineering, Electrical & Electronic)
- 24. Duc Huy Nguyen, Yu-Ting Chen, Tse-Yi Tu, <u>Paul C.-P. Chao\*</u>, Yu-Wei Fang, Bing-Shi Lin, 2021, "A new blood flow volume sensor with embedded estimation of SpO2 to maximize its accuracy," *Microsystem Technologies*, vol. 27, iss. 6, pp. 2433-2445. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 25. Ba-Sy Nguyen and <u>Paul C.-P. Chao\*</u>, 2021, "A switch module stacked by a 4 × 3 IGBT array with balanced voltage sharing for PEF applications," *Microsystem Technologies*, vol. 27, iss. 6, pp. 2407-2418. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 26. C. P. Chang, W.-W. Yen, and <u>Paul C.-P. Chao\*</u>, 2021,"Design and simulation of a new wireless power transfer circuit with a single-stage regulating rectifier for flexible sensor patches," *Microsystem Technologies*, vol. 27, iss. 6, pp. 2303–2314. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 27. Rajeev Kumar Pandey, Tse-Yu Lin, and <u>Paul C.-P. Chao</u>\*, 2021, "Design and implementation of a photoplethysmography acquisition system with an optimized artificial neural network for accurate blood pressure measurement," *Microsystem Technologies*, vol. 27, iss. 6, pp. 2345-2367. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 28. Eka Fitrah Pribadi, Rajeev Kumar Pandey and <u>Paul C.-P. Chao</u>\*, 2021, "Design and implementation of a new light to digital converter for the PPG sensor," *Microsystem Technologies*, vol. 27, iss. 6, pp. 2461-2472. (**SCI Journal**, Impact Factor = 2.276, Ranking

- = 90/190(0.562), Physics, Applied).
- 29. Ba-Sy Nguyen, Wen-Wei Yen, <u>Paul C.-P. Chao\*</u>, and Sheng-Ching Wang, Aug 2020, "A New High-Efficiency Power Management Circuit for a Novel Two-Phase Compensated Pulse Alternator," *IEEE Transactions on Plasma Science*, vol. 48, Iss. 9, pp. 3176-3187. (SCI Journal, Impact Factor = 1.56, Ranking = 24/34(0.705), Physics, Fluids & Plasma)
- 30. Hong-Yu Chiu, Austin Shuai and <u>Paul C.-P. Chao</u>, June 2020, "Reconstructing QRS Complex from PPG by Transformed Attentional Neural Networks," *IEEE Sensors Journal*, vol. 20, Iss. 20, pp. 12374-12383. (**SCI Journal**, Impact Factor = 3.301, Ranking = 14/72(0.194), Instruments & Instrumentation).
- 31. W.-W. Yen, and <u>Paul C-P. Chao</u>\*, 2020, "Backpack energy harvester managed by a modified fly-back converter," *Microsystem Technologies*, vol. 55, pp. 1-11. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 32. Pandey, Rajeev Kumar, and <u>Paul C-P. Chao</u>\*, 2020, "External temperature sensor assisted a new low power photoplethysmography readout system for accurate measurement of the biosigns," *Microsystem Technologies*, vol. 27, iss. 6, pp. 2315-2343. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 33. Rajeev Kumar Pandey, Tzu Hao Huang, Wei-Hsuan Ho, Eka Fitrah Pribai and **Paul C.-P. Chao\***, 2020, "Achieving Sensing Precision Of 0.5nA In Pixel with 7us Settling Time by a New External Current Sensing Circuit for AMOLED Displays," *Microsystem Technologies*, vol. 26, pp. 3349–3369. (**SCI** Journal, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 34. Wen-Yu Chen, I-Feng Chang, <u>Paul C.-P. Chao\*</u>, Smriti Thakur and Tse-Yi Tu, 2020, "Design and implementation of a new high-accuracy interpolation encoder IC for magnetoresistive sensors," *Microsystem Technologies*, vol. 26, pp. 3547–3559. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 35. Jeremy H.-S. Wang, Ming-Hua Yeh, <u>Paul C.-P. Chao\*</u>, Tse-Yi Tu, Yuan-Hwa Kao, Rajeev Pandey, 2020, "A fast digital chip implementing a real-time noise-resistant algorithm for estimating blood pressure using a non-invasive, cuffless PPG sensor," *Microsystem Technologies*, vol. 26, pp. 3501–3516. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 36. Chia Yu Chang, <u>Paul C.-P. Chao</u>\*, 2020, "A Fast-Sensing Readout Circuit Enabled by Code Division Multiple Access Implemented for an Ultra-Thin On-Cell Flexible Capacitive Touch Panel," *Microsystem Technologies*, vol. 26, pp. 3517–3531. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 37. Eka Fitrah Pribadi, Rajeev Kumar Pandey and Paul C.-P. Chao\*, 2020, "Optimizing a novel PPG sensor patch via optical simulations towards accurate heart rates," *Microsystem Technologies*, vol. 26, pp. 3409–3420. (SCI Journal, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 38. Tse-Yi Tu and <u>Paul C.-P. Chao\*</u>, 2019, "Optimal Design of a New Strain-type Sensor for Cuff-less Blood Pressure Measurement via Finite Element Modeling and Taguchi Method,"

- *IEEE Sensors Journal*, vol. 19, Iss. 22, pp. 10355-10364. (**SCI Journal,** Impact Factor = 4.325, Ranking = 14/72(0.194), Instruments & Instrumentation)
- 39. Ming-Cheng Liu, Eka Fitrah Pribadi, <u>Paul C.-P. Chao\*</u>, Rajeev Kumar Pandey, 2019, "A low-power reference-less clock/data recovery for visible light communication devices requiring low data throughput," *Microsystem Technologies*, vol. 26, pp. 171–181. (SCI Journal, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 40. Ching-Cheng Yang, Rajeev Pandey, Tse-Yi Tu, Yuan-Po Cheng, **Paul C.-P. Chao\***, 20219, "An efficient energy harvesting circuit for batteryless IoT devicest," *Microsystem Technologies*, vol. 26, pp. 195–207. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 41. Pei-Yu Chiang, <u>Paul C.-P. Chao\*</u>, Tse-Yi Tu, Yung-Hua Kao, Chih-Yu Yang, Der-Cherng Tarng and Chin-Long Wey, 2019, "Machine Learning Classification for Assessing the Degree of Stenosis and Blood Flow Volume at Arteriovenous Fistulas of Hemodialysis Patients Using a New Photoplethysmography Sensor Devic," *MDPI Sensors*, vol. 19, pp. 3422. (SCI Journal, Impact Factor = 3.576, Ranking =18/94 (0.191), Optics, Ranking = 16/61 (0.262), Instrument and Instrumentation)
- 42. Yung-Hua Kao, <u>Paul C.-P. Chao\*</u> and Chin-Long Wey, 2019, "Design and Validation of a New PPG Module to Acquire High-Quality Physiological Signals for High-Accuracy Biomedical Sensing," *IEEE Journal of Selected Topics in Quantum Electronics*, vol. 25, no. 1, pp. 69000210. (SCI Journal, Impact Factor = 4.544, Ranking =14/99 (0.141), Optics)
- 43. Yung-Hua Kao, <u>Paul C.-P. Chao\*</u> and Chin-Long Wey, 2018, "Towards maximizing the sensing accuracy of an cuffless, optical blood pressure sensor using a high-order front-end filter," *Microsystem Technologies*, vol. 24, iss. 11, pp. 4621–4630. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 44. <u>Paul C.-P. Chao</u>\*, Pei-Yu Chiang, Yung-Hua Kao, Tse-Yi Tu, Chih-Yu Yang, Der-Cherng Tarng, Chin-Long Wey, 2018, "A Portable, Wireless Photoplethysomography (PPG) Sensor for Detecting Arteriovenous Fistula (AVF) Dysfunction Using Support Vector Machine," *MDPI Sensors*, Vol. 18, Iss. 11, pp. 3854. (SCI Journal, Impact Factor = 3.014, Ranking = 18/94 (0.191), Optics, Ranking = 16/61 (0.262), Instrument and Instrumentation)
- 45. Trong-Hieu Tran, Yu-Jen Wang, Chun-Kai Cheng, <u>Paul C.-P. Chao\*</u>, Chun-Chieh Wang, 2018, "Using maximum likelihood to calibrate a six-DOF force/torque sensor," *Microsystem Technologies*, vol. 24, iss. 11, pp. 4493-4509. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 46. Ming-Hung Yu and <u>Paul C.-P. Chao\*</u>, 2018, "A new multi-mode multi-input—multi-output (MIMO) converter in an efficient low-voltage energy harvesting system for a gas sensor," *International Journal of Engineering Development and Research*, vol. 6, iss. 3, pp. 352–358. (ISSN: 2321-9939)
- 47. Chun-Kai Cheng and <u>Paul C.-P. Chao</u>\*, 2018, "Trajectory Tracking between Josephson Junction and Classical Chaotic System via Iterative Learning Control," *Applied Science*, vol. 8, pp. 1285, Aug, 2018. (**SCI Journal**, Impact Factor = 1.913, Ranking = 150/274 (0.547),

- Multi-disciplinary)
- 48. Ming-Hung Yu and <u>Paul C.-P. Chao\*</u>, 2018, "A new multi-mode multi-input—multi-output (MIMO) converter in an efficient low-voltage energy harvesting system for a gas sensor," *Microsystem Technologies*, vol. 24, iss. 11, pp. 4477–4492. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 49. Chun-Kai Cheng and <u>Paul C.-P. Chao</u>\*, 2018, "Chaotic Synchronizing Systems with Zero Time Delay and Free Couple via Iterative Learning Control," *Applied Science*, vol. 8, pp. 177, Jan, 2018. (**SCI Journal**, Impact Factor = 1.913, Ranking = 150/274 (0.547), Multi-disciplinary)
- 50. Tse-Yi Tu and <u>Paul C.-P. Chao\*</u>, 2018, "Continuous Blood Pressure Measurement Based on a Neural Network Scheme Applied with a Cuffless Device," *Microsystem Technologies*, vol. 24, iss. 11, pp. 4539-4549. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 51. Pei-Yu Chiang and <u>Paul C.-P. Chao\*</u>, Chih-Yu Yang, Der-Cherng Tarng, 2018, "Theoretical Developments and Clinical Experiments of Measuring Blood Flow Volume (BFV) at Arteriovenous Fistula (AVF) Using a Photoplethysmography (PPG) Sensor," *Microsystem Technologies*, vol. 24, iss. 11, pp. 4587–4603. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 52. <u>Paul C.-P. Chao</u>\*, Yu-Te Liao, Yu-Jen Wang, 2018, "The ISPS 2017 editorial for the 26th annual conference on information storage and processing systems, San Francisco, California, USA" *Microsystem Technologies*, vol. 24, iss. 11, pp. 4437. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 53. Tsung-Yen Ku, <u>Paul C.-P. Chao\*</u>, Chin-Hai Huang, En-Chih Liu, Ming-Hua Yeh, Tong-Wen Wang, 2018, "Design and validation of the readout circuitry for an in-cell active-matrix capacitive (IAMC) touch panel," *Microsystem Technologies*, vol. 24, iss. 11, pp. 4551-4559. (SCI Journal, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 54. Eric P.-Y. Chiang, <u>Paul C.-P. Chao</u>\*, Der-Cherng Tarng, Chih-Yu Yang, 2017, "A Novel Wireless Photoplethysmography Blood Flow Volume Sensor for Assessing Arteriovenous Fistula of Hemodialysis Patients," *IEEE Transactions on Industrial Electronics*, vol. 64, iss. 12, pp. 9626-9635, 2017. (**SCI Journal**, Impact Factor = **7.050**, Ranking = 1/61 (0.016), Instruments & Instrumentation, MOST 104-2923-M-009-002-, 105-2623-E-009-009-D and 105-2633-B-009-003)
- 55. Huai-San Wang, Kang-Fu Qiu and Paul C.-P. Chao\*, 2017, "Control design and digital implementation of a fast 2 degree-of-freedom (2-DOF) translational optical image stabilizer (OIS) for image sensors in mobile camera phones," *MDPI Sensors*, vol. 17, iss. 10, pp. 2333. (SCI Journal, Impact Factor = 3.014, Ranking =18/94 (0.191), Optics, Ranking = 16/61 (0.262), Instrument and Instrumentation, MOST 105-2923-M-009-006, 105-2634-F-009-002, 106-2221-E-009-089 and 106-2218-E-009-011, 105-2633-B-009-003)
- 56. Trong-Hieu Tran, Hsuan-Wen Peng, <u>Paul C.-P. Chao</u>\*, Jing-Wen Hsieh, 2017, "A Low-ppm Digitally Controlled Crystal Oscillator Compensated by a New 0.19 mm2 Time-

- Domain Temperature Sensor," *IEEE Sensors Journal*, vol. 17, iss. 1, pp. 51 62. (**SCI Journal**, Impact Factor = 2.512, Ranking = 12/58 (0.207), Instruments & Instrumentation, MOST 104-2923-M-009-002-, 105-2623-E-009-009-D and 105-2633-B-009-003)
- 57. Kuo-Yu Chou, <u>Paul C.-P. Chao\*</u>, Chuan-Xin Chen, Chang-Xian Wu, 2017, "Modeling and Analysis of Touch on Flexible Ultra-Thin Touch Panels for AMOLED Displays Employing Finite Element Method," *Microsystem Technologies*, vol. 23, iss. 11, pp. 5211–5220. (SCI Journal, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).

## 五年前期刊論文:

- 58. Trong-Hieu Tran, <u>Paul C.-P. Chao\*</u>, Ping-Chieh Chien, 2016, "The Front-End Readout as an Encoder IC for Magneto-Resistive Linear Scale Sensor," *MDPI Sensors*, vol. 16, iss. 9, pp. 1416 1428. (SCI Journal, Impact Factor = 3.014, Ranking =18/94 (0.191), Optics, Ranking = 16/61 (0.262), Instrument and Instrumentation, MOST 104-2923-M-009-002-, 105-2623-E-009-009-D and 105-2633-B-009-003)
- 59. Shih-Song Cheng, Sheng-Chieh Huang, Trong Hieu Tran, Kai-Yu Shao, <u>Paul C.-P. Chao\*</u>, Pei-Yu Chiang, 2016, "A 1.5 mW front-end readout circuit for a small-sized melanin sensor," *Microsystem Technologies*, vol. 22, iss. 12, pp. 1449-1465. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 60. Chih-Cheng Wu, <u>Paul C.-P. Chao</u>, 2016, "Validation of the Freescan Pulse Transient Time-Based Blood Pressure Monitor," *Journal of Hypertension*, vol. 34, pp. e142 (**SCI Journal**, Impact Factor = 6.857, Ranking = 3/63(0.048), Engineering, Electrical & Electronic)
- 61. Yung-Hua Kao, Tse-Yi Tu, <u>Paul C.-P. Chao\*</u>, Yung-Pin Lee, Chin-Long We, 2016, "Optimizing a new cuffless blood pressure sensor via a solid-fluid-electric finite element model with consideration of varied mis-positionings," *Microsystem Technologies*, vol. 22, iss. 6, pp. 1437-1447. (**SCI Journal**, Impact Factor = 2.276, Ranking = 90/190(0.562), Physics, Applied).
- 62. <u>Paul C.-P. Chao\*</u>, Chun-Kai Chang, Chun-Kai Cheng, Trong-Hieu Tran, Thilo Sauter, 2016, "A new single inductor bipolar multi-output (SIBMO) DC–DC converter driven by constant on-time with improved performance," *Microsystem Technologies*, vol. 22, iss. 12, pp. 1405-1418. (SCI Journal, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic)
- 63. Sheng-Tzung Tsai, Wei-Yi Chuang, Chung-Chih Kuo, <u>Paul C.-P. Chao</u>, Hsiang-Yi Hung, Shin-Yuan Chen, 2015, "Dorsolateral subthalamic neuronal activity enhanced by median nerve stimulation characterizes Parkinson's disease during deep brain stimulation in general anesthesia," *Journal of Neurosurgery*, Vol. 123, No. 6, pp. 1394-400, Dec 2015. (SCI Journal, Impact Factor = 3.243, Ranking = 21/202(0.104), Surgery)
- 64. Wei-Yi Chuang, <u>Paul C.-P. Chao</u>\* and Kuu-Young Young, 2015, "Computing Electrical Potential in a Bipolar Electrode Configuration to Avoid Side Effects during Deep Brain Stimulation," *Sensors and Actuators: A*, vol. 233, pp.9-14. (**SCI Journal**, Impact Factor = 2.143, Ranking = 12/57(0.211), Instruments & Instrumentation)

- 65. <u>Paul C.-P. Chao\*</u>, Ching-Hua Kuan, and Jia-Wei Su, 2015, "Optimizing an On-Chip Boost DC-DC Converter with an On-chip or On-board Inductance," *Microsystem Technologies*, vol. 21, iss. 12, pp. 2727-2735. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic) (<u>Best Paper Award</u> of the ASME ISPS 2014 Conference)
- 66. <u>Paul C.-P. Chao</u>\*, Li-Chi Hsu, Yu-Feng Li and Chin-Wei Chun, 2015, "Design and development of a wireless fall detection module for homecare," *Microsystem Technologies*, vol. 21, iss. 12, pp. 2737-2745. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic)
- 67. <a href="Paul C.-P. Chao">Paul C.-P. Chao</a>, Yen-Ping Hsu, Yung-Hua Kao and Kuei-Yu Lee, 2015, "A New Prediction Model on the Luminance of OLEDs Subjected to Different Reverse Biases for Alleviating Degradation in AMOLED Displays," *Microsystem Technologies*, vol. 21, iss. 12, pp. 2771-2776. (SCI Journal, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Engineering, Electrical & Electronic) (Best Paper Award of the ASME ISPS 2014 Conference)
- 68. Kuei-Yu Lee, Yen-Ping Hsu, <u>Paul C.-P. Chao\*</u> and Wei-Dar Chen, 2014, "A New Compensation Method for Emission Degradation in an AMOLED Display via an External Algorithm, New Pixel Circuit, and Models of Prior Measurements," *IEEE/OSA Journal of Display Technology*, vol. 10, no. 3, pp. 189-197. (SCI Journal, Impact Factor = 1.891, Ranking = 82/247(0.332), Engineering, Electrical and Electronic, NSC-101-2911- I-009-101)
- 69. Sheng-Chien Huang, Wei-Hsuan Hsu, <u>Paul C.-P. Chao\*</u> and C. H. Tsai, 2014, "A New Active 3D Optical Proximity Sensor Array and Its Readout Circuit," *IEEE Sensors Journal*, vol. 14, no. 7, pp. 2185-2192. (**SCI Journal**, Impact Factor = 1.932, Ranking = 13/57(0.228), Instruments & Instrumentation, NSC-101-2623-E-009-006-D, NSC-101- 2911-I-009-101)
- 70. Lehmhus, D., Bosse, S., Lang, W., <u>Paul C.-P. Chao</u> and Chang, F., 2014, "Material-integrated sensing," *IEEE Sensors Journal*, vol. 14, no. 7, pp. 2077. (**SCI Journal**, Impact Factor = 1.932, Ranking = 13/57(0.228), Instruments & Instrumentation)
- 71. Yi-Hung Liu, Chung-Hao Chen, and <u>Paul C.-P. Chao</u>, "Mathematical Methods Applied to Digital Image Processing," Mathematical *Problems in Engineering*, vol. 2014, pp. 1-4. (**SCI Journal**, Impact Factor = 1.082, Ranking = 33/87(0.379), Engineering, Multidisciplinary)
- 72. **Paul C.-P. Chao\***, W. D. Chen and R. H. Wu, 2014, "A Battery Charger Controller for a Flyback Converter with Digital Primary Side Regulation," *Microsystem Technologies*, vol. 20, pp. 1689-1703. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Electrical & Electronic, NSC-101-2221-E-009-165 and NSC-101-2911-I-009-101)
- 73. Paul C.-P. Chao\*, Tse-Yi Tu, and Yung-Yuan Kao, 2014, "An LCL-Lens Array with Electrodes of Interlaced Structure in Applications of Auto-Stereoscopic Displays," *Microsystem Technologies*, vol. 20, pp. 1425-1434. (SCI Journal, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-99-2622-E-009-017-CC1, NSC-99-2220-E-009-005- and NSC-101-2911-I-009-101)

- 74. Wei-Hsuan Hsu, <u>Paul C.-P. Chao\*</u>, W. D. Chen and C. H. Tsai, 2014, "An On-line Digital Optical Bench Tester Based for Lens Quality Evaluation," Microsystem Technologies, vol. 20, pp. 1387-1395. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-101-2911-I-009-101-)
- 75. Wei-Yi Chuang, <u>Paul C.-P. Chao</u>\*, and Kuu-Young Young, 2014, "Computerized Stimulation Parameter Adjustment that Avoids Side Effects and Minimizes Power Consumption for Deep Brain Stimulation in Parkinson's Disease," *Journal of Medical and Biological Engineering*, Vol. 34, No. 4, pp. 310-318. (**SCI Journal**, Impact Factor = 1.094, Ranking = 55/77(0.714), Engineering, Biomedical)
- 76. <u>Paul C.-P. Chao\*</u>, Jian-Ruei Chen, C. H. Tsai, and W. D. Chen, 2014, "Design and Realization of High Resolution (640x480) SWIR Image Acquisition," *Microsystem Technologies*, vol. 20, pp. 1583-1595. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-100-2623-E-009-006-D and NSC-101-2911-I-009-101)
- 77. **Paul C.-P. Chao\***, W. D. Chen and C. W. Cheng, 2013, "An Intelligent Battery Fast Charging mechanism in a Generic photovoltaic system with On-line Temperature Compensation," *Microsystem Technologies*, vol. 19, pp. 1289-1036. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-100-2221-E-009-091, NSC-101-2221-E-009-165 and NSC-100-2911-I-009-101)
- 78. T. C. Chan\*, C. K. Sung, <u>Paul C.-P. Chao</u>, and C. H. Lu, 2013, "Influence of External Excitations on Ball Positioning of an Automatic Balancer," *Mechanism and Machine Theory*, vol. 69, pp. 115-216. (**SCI Journal**, Impact Factor = 1.728, Ranking = 37/126(0.294), Engineering, Mechanical, NSC-97-2221-E-007-050-MY3 and NSC-96-2221-E-007-075)
- 79. Tse-Yi Tu, <u>Paul C.-P. Chao\*</u>, and Yueh-Teng Mai, 2013, "A low-power self-biased rail-to-rail preamplifier as a readout circuit for a capacitor-type microphone," *Microsystem Technologies*, vol. 19, pp. 1329-1343. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-100-2911-I-009-101)
- 80. **Paul C.-P. Chao\***, Chun-Yin Tsai, and Chi-Wei Chiu, 2013, "A new hybrid fabrication processes for a high sensitivity MEMS microphone," *Microsystem Technologies*, vol. 19, pp. 1425-1431. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-101-2623-E-009-006-D, NSC-100-2221-E-009-091- and NSC-100-2911-I-009-101)
- 81. <u>Paul C.-P. Chao\*</u>, C.-H. Tsai, J.-D. Li and C.-Y. Shen, 2013, "Optimizing Angular Placements of the LEDs in a LCD Backlight Module for Maximizing Optical Efficiency," *Microsystem Technologies*, vol. 19, pp. 1669-1678. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-100-2623-E- 009-006-D, NSC-100-2221-E-009-091 and NSC-100-2911-I-009-101)
- 82. Kuei-Yu Lee, Yen-Ping Hsu and <u>Paul C.-P. Chao\*</u>, 2012, "A New 4T0.5C AMOLED Pixel Circuit with Reverse Bias to Alleviate OLED Degradation," *IEEE Electron Device Letters*,

- Vol. 33, No. 7, pp. 1024-1026. (**SCI Journal**, Impact Factor = 3.023, Ranking = 29/247(0.117), cited by 4 times, Engineering, Electrical & Electronic, NSC-100-2911-I-009-101).
- 83. Kuei-Yu Lee, and <u>Paul C.-P. Chao\*</u>, 2012, "A New AMOLED Pixel Circuit with Pulsed Drive and Reverse Bias to Alleviate OLED Degradation," *IEEE Transaction on Electron Device*, Vol. 59, No. 4, pp. 1123-1130. (SCI Journal, Impact Factor = 3.023, Ranking = 29/247(0.117), cited by 7 times, Engineering, Electrical & Electronic, NSC-100-2911-I-009-101)
- 84. <u>Paul C.-P Chao\*</u>, Yung-Yuan Kao and Chao-Jui Hsu, 2012, "A New Negative Liquid Crystal Lens with Multiple Ring Electrodes in Unequal Width," *IEEE Photonics Journal*, Vol. 4, No. 1, pp. 250-266. (**SCI Journal**, Impact Factor = 2.353, Ranking = 45/247(0.182), cited by 2 times, Engineering, Electrical & Electronic, NSC-100-2911-I-009-101 and NSC-100-2221-I-009-091)
- 85. Tzu-Fan Huang, <u>Paul C.-P. Chao</u>\* and Yung-Yuan Kao, 2012, "Tracking, recognition, and distance detection of hand gestures for a 3-D interactive display," *Journal of the Society of Information Display*, Vol. 20, No. 4, pp. 180-196. (<u>Invited Paper</u>, SCI Journal, Impact Factor = 0.798, Ranking = 166/247(0.672), cited by 1 times, Engineering, Electrical & Electronic).
- 86. Paul C.-P. Chao\*, Wei-Dar Chen and Chih-Kuo Chang, 2012, "Maximum Power Tracking of a Generic Photovoltaic System via a Fuzzy Controller and a Two-Stage DC-DC Converter," *Microsystem Technologies*, Vol..18, pp. 1267-1281. (SCI Journal, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-100-2623-E-009-006-D, NSC-100-2221-E-009-091- and NSC-100-2911-I-009-101)
- 87. Che-Hung Tsai and Paul C.-P. Chao\*, 2012, "Optimal Design of ITO/organic Photonic Crystals in Polymer Light-emitting Diodes with Sidewall Reflectors for High Efficiency," *Microsystem Technologies*, Vol.18, pp. 1289-1296. (SCI Journal, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-101-2623-E-009-006-D, NSC-100-2221-E-009-091- and NSC-100-2911-I-009-101)
- 88. Tse-Yi Tu and Paul C.-P. Chao\*, 2012, "A New Liquid Crystal Lens with Axis-Tunability via Three Sector Electrodes," *Microsystem Technologies*, Vol..18, pp. 1297-1307. (SCI Journal, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-101-2623-E-009-006-D, NSC-100-2221-E-009-091- and NSC-100-2911-I-009-101)
- 89. T. C. Chan, C.-K. Sung and <u>Paul C.-P. Chao</u>, 2012, "Friction effect on ball positioning of an automatic balancer in optical disk drives," Microsystem *Technologies*, 2012, Vol.18, pp. 1343-1351. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), cited by 1 times, Engineering, Electrical & Electronic, NSC-96-2221-E-007-075 and NSC-97- 2221-E-007-050-MY3)
- 90. <u>Paul C.-P. Chao\*</u> and Chun-Wei Chiu, 2012, "Design and Experimental Validation of a Sliding-Mode Stabilizer for a Ship-Carried Satellite Antenna," *Microsystem Technologies*,

- 2012, Vol.18 ,pp. 1651-1660. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-96-2220-E-009-029 and NSC-96-2622-E-009-101-CC3)
- 91. C. I. Shao, J.-T. Chen, F.-M. Hsu, T.-C. Huang, <u>Paul C.-P Chao\*</u>, S. K. Lin, C. X. Lu, C. K. Sung and J. S. Huang, 2012 (Feb), "Design and implementation of a novel micro transducer with high energy density," *Engineering Technology Communication*, Vol. 122, pp. 38-44. (Impact Factor = 0.875, Ranking = 47/87(0.54), Engineering, Multidisciplinary)
- 92. <u>Paul C.-P Chao\*</u> and Che-Hung Tsai, 2012 (Mar), "Design and Fabrication of Light Emitting Diodes with High Direction and Efficiency via Nano-imprinting on Photonic Crystals of Surface," *Engineering Technology Communication*, Vol. 124, pp. 60-63. (<u>Invited Paper</u>, Impact Factor = 0.875, Ranking = 47/87(0.54), Engineering, Multidisciplinary)
- 93. <u>Paul C.-P. Chao\*</u>, 2011, "Energy Harvesting Electronics for Vibratory Devices in Self-Powered Sensors," *IEEE Sensors Journal*, Vol. 11, No. 12, pp. 3106-3121. (<u>Invited Paper</u> for celebrating **10-year anniversary issue of IEEE Sensors Journal**, merited as one of 25 most downloaded Sensors Journal papers in **2011-2012**, SCI Journal, Impact Factor = 1.932, Ranking = 13/57(0.228), cited by 6 times, Instruments & Instrumentation, NSC-97-2221-E-007-050 and NSC-99-2911-I-010-101)
- 94. Yi-Ling Yang\*, <u>Paul C.-P. Chao</u>, C.-K. Sung, 2011, "Optimal Control of an Under-Actuated System for Landing at Desired Postures," *IEEE Transactions on Control System Technology*, Vol. 19, No. 2, pp. 248-255. (**SCI Journal**, Impact Factor = 3.015, Ranking = 41/247(0.166), Engineering, Electrical & Electronic, NSC-97-2221-E- 007-050-MY3 and NSC-97-2221-E- 009-085-MY3)
- 95. C. X. Lu, Y. J. Wang, C. K. Sung and <u>Paul C.-P. Chao\*</u>, 2011, "A Hula-hoop Energy-harvesting System," *IEEE Transactions on Magnetics*, Vol. 47, No. 10, pp. 2395-2398. (**SCI Journal**, Impact Factor = 1.301, Ranking = 125/247(0.506), cited by 2 times, Engineering, Electrical & Electronic, NSC-97-2221-E-007-050 and NSC-99-2911-I-010-101)
- 96. C. X. Lu, C. C. Wang, C. K. Sung and <u>Paul C.-P Chao</u>, 2011, "Dynamic analysis of a motion transformer mimicking a hula hoop," *ASME Journal of Vibration and Acoustics*, Vol. 133, Iss. 1, pp. 014501-1-8. (**SCI Journal**, Impact Factor = 0.366, Ranking = 108/126(0.857), cited by 1 times, Engineering, Mechanical, NSC-97-2221-E-007-050)
- 97. Yung-Yuan Kao and Paul C.-P Chao\*, 2011, "A New Dual-Frequency Liquid Crystal Lens with Ring-and-Pie Electrodes and a Driving Scheme to Prevent Disclination Lines and Improve Recovery Time," MDPI Sensors, Vol. 11, No. 5,, pp. 5402-5415. (SCI Journal, Impact Factor = 2.457, Ranking = 10/57(0.175), cited by 6 times, Instruments & Instrumentation, NSC-98-2220-E-009-018 and NSC-97-2221-E-009-057-MY3)
- 98. T. C. Chan, C.-K. Sung and <u>Paul C.-P. Chao</u>, 2011, "Non-linear suspension of an automatic ball balancer," *International Journal of Non-Linear Mechanics*, Vol. 46, Iss. 2, pp. 415-424. (SCI Journal, Impact Factor = 1.673, Ranking = 56/138(0.406), cited by 2 times, Mechanics, NSC-97-2221-E-007-050-MY3 and NSC-96-2221-E-007-075)
- 99. Paul C.-P. Chao\*, Pen-Yen Liao and Meng-Yen Tsai, 2011, "Robust Control Design for

- Precision Positioning of a Generic Piezoelectric System with Consideration of Microscopic Hysteresis Effects," *Microsystem Technologies*, Vol. 17, pp. 1009-1023. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-95-2221-E-009-367, NSC-95-2745-E-033-004-URD and NSC-97-2221-E-009-057-MY3)
- 100. Chao-Jui Hsu, <u>Paul C.-P. Chao\*</u>, and Yung-Yuan Kao, 2011, "A Thin Multi-Ring Negative Liquid Crystal Lens Enabled by High-κ Dielectric Material," *Microsystem Technologies*, Vol. 17, No. 5-7, pp. 923-929. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), cited by 2 times, Engineering, Electrical & Electronic, NSC-98-2220-E-009-018)
- 101. **Paul C.-P. Chao\***, C. I. Shao, C. X. Lu and C. K. Sung, 2011, "A New Energy Harvest System with a Hula-Hoop Transformer, Micro-generator and Interface Energy-Harvesting Circuit," *Microsystem Technologies*, Vol. 17, No. 5-7, pp. 1025-1036. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-97-2221-E-007-050 and NSC-99-2911-I-010-101)
- 102. **Paul C.-P. Chao\*,** Yu-Han Chen, Chi-Wei Chiu, Meng-Yen Tsai, Jyh-Yeong Chang and Shir-Kuan Lin, 2011, "A New Two-DOF Rotational Optical Image Stabilizer," *Microsystem Technologies*, Vol. 17, No. 5-7, pp. 1037-1049. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic, NSC-98-2220-E-009-018-, NSC-98-2622-E-009-006-CC1 and NSC-99-2911-I-010-101)
- 103. Tse-yi Tu and <u>Paul C.-P. Chao</u>\*, 2011 (June), "Optical Design and Fabrication of the Tunable-axis Liquid Crystal Lens," *Journal of CSE*, Special Issue on micro-electromechanical systems, Vol. 84, No. 3, pp. 62-72. (<u>Invited paper</u>, Impact Factor = 1.418, Ranking = 61/102(0.598), Computer Science, Interdisciplinary Applications)
- 104. Yung-Yuan Kao, <u>Paul C.-P. Chao</u>\* and Chieh-Wen Hsueh, 2010, "A New Low-Voltage-Driven GRIN Liquid Crystal Lens with Multiple Ring Electrodes in Unequal Width," *Optics Express*, Vol. 18, No. 18, pp. 18506–18518. (**SCI Journal**, Impact Factor = 3.533, Ranking = 6/82(0.073), cited by 17 times, Optics, NSC-98-2220-E-009-018 and NSC-97-2221-E-009-057-MY3).
- 105. Wei-Yi Chuang, <u>Paul C.-P. Chao</u>\*, and Kuu-Young Young, 2010, "Adjusting Electrode Potentials to Compensate Thermal/Tissue Effects in Deep Brain Stimulation via Finite Element Electromagnetic Analysis," *IEEE Transactions on Magnetics*, Vol. 46, No. 6, pp.2397-400. (**SCI Journal**, Impact Factor = 1.301, Ranking = 125/247(0.506), Engineering, Electrical & Electronic).
- L. D. Liao, M. L. Li, H. Y. Lai, Y. Y. Shih, Y. C. Lo, S. Tsang, <u>Paul C.-P. Chao</u>, C. T. Lin, F. S. Jaw, Y. Y. Chen\*, 2010, "Imaging Brain Hemodynamic Changes during Rat Forepaw Electrical Stimulation Using Functional Photoacoustic Microscopy," *NeuroImage*, Vol. 52, No. 2, pp. 562-570. (SCI Journal, Impact Factor = 6.956, Ranking = 5/121(0.041), cited by 29 times, Radiology, Nuclear Medicine & Medical Imaging, NSC-96-2220-E-009-029, NSC-97-2220-E-009-029 and NSC-97-2221-E-007-084-MY3).

- 107. Che-Hung Tsai, Lun-De Liao, <u>Paul C.-P. Chao</u>\*, In-Chen Chen, Hsin-Fei Meng, Wei-Dar Chen, Shir-Kuan Lin and Chin-Teng Lin, 2010, "Optimal Design and Fabrication of ITO/Organic Photonic Crystals in Polymer Light Emitting Diodes using a Focused Ion Beam," *Microelectronic Engineering*, Vol. 87. Issue 5-8, pp. 1331-1335. (SCI Journal, Impact Factor = 1.382, Ranking = 110/247(0.445), cited by 4 times, Engineering, Electrical & Electronic, NSC-97-2221-E-009-057-MY3 and NSC-97-2220-E-009-029).
- 108. Lun-De Liao, <u>Paul C.-P. Chao\*</u>, Chi-Wei Chiu, Chih-Wei Huang, 2010, "DC dynamic and static pull-in predictions and analysis for electrostatically actuated clamped circular micro-plates based on a continuous model," *Journal of Micromechanics and Microengineering*, Vol. 20, pp. 025013. (SCI Journal, Impact Factor = 2.045, Ranking = 38/138(0.275), cited by 4 times, Mechanics, NSC-97-2221-E-009-057-MY3 and NSC-97-2220-E-009-029).
- 109. <u>Paul C.-P. Chao</u>\*, C.-W. Chiu, J.-Y. Shen, 2010, "Precision Positioning of a Three-axis Optical Pickup via a Double Phase-Lead Compensator Equipped with Auto-tuned Parameters," *Microsystem Technologies*, Vol. 16, No. 1, pp. 117-141. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), cited by 1 times, Engineering, Engineering, Electrical & Electronic, NSC-96-2622-E-009-010-CC3 and NSC-97-2221-E-009-057-MY3).
- 110. Lun-De Liao, <u>Paul C.-P. Chao</u>\*, Ming-Hsun Chung and Jeng-Sheng Huang, 2010, "Robust Dual-Stage and Repetitive Control Designs for an Optical Pickup with Parallel Cantilever Beams Powered by Piezo-Actuation," *Microsystem Technologies*, Vol. 16, No. 1, pp. 317-331. (SCI Journal, Impact Factor = 1.581, Ranking = 172/262(0.656), cited by 1 times, Engineering, Electrical & Electronic, NSC-96-2220-E-009-029 and NSC-97-2221- E-009-057-MY3).
- 111. Yi-Ling Yang, <u>Paul C.-P. Chao</u>\*, C.-K. Sung, 2009, "Landing Posture Control of a Generalized Twin-body System Using Methods of Input-output Linearization and Computed Torque," *IEEE Transactions on Mechatronics*, Vol. 14, No. 3, pp. 326-336. (**SCI Journal**, Impact Factor = 4.008, Ranking = 1/39(0.026), cited by 5 times, Engineering, Manufacturing, NSC-95-222-E-007-156 and NSC-97-2220-E-009-029).
- 112. Lun-De Liao, <u>Paul C.-P. Chao</u>\*, Jian-Ting Chen, Wei-Dar Chen, Wei-Hsuan Hsu, Chi-Wei Chiu, and Chin-Teng Li, 2009, "A Miniaturized Electromagnetic Generator with Planar Coils and Its Energy Harvest Circuit," *IEEE Transactions on Magnetics*, Vol. 45, No. 10, pp. 4621-4627, an honored and invited paper. (SCI Journal, Impact Factor = 1.301, Ranking = 125/247(0.506), cited by 17 times, Engineering, Electrical & Electronic, NSC-97-2221-E-009-057-MY3 and NSC-97-2220-E-009-029)
- 113. Andy Ying-Guey Fuh, Cheng-Kai Liu, Ko-Ting Cheng\*, Chi-Lung Ting, Che-Chang Chen, **Paul C.-P. Chao**, and Hsu-Kuan Hsu, 2009, "Variable liquid crystal pre-tilt angles generated by photoalignment in homeotropically aligned azo dye-doped liquid crystals," *Applied Physics Letters*, Vol. 45, 161104. (**SCI Journal**, Impact Factor = 3.739, Ranking = 20/136(0.147), cited by 10 times, Physics, Applied, NSC-95-2112-M-006-022-MY3)
- 114. Yung-Yuan Kao, Paul C.-P. Chao\*, Zong-Bin Liu, Zhi-Kuan Wang, Po-Wen Liu,

- Jeng-Sheng Huang, and Chang-Chun Chang, 2009, "Performance Prediction of a Small-sized Herringbone-grooved Bearing with Ferro-fluid Lubrication Considering Cavitation," *Journal of Applied Physics*, Vol. 105, Issue 7, pp. 07A334-1-07A334-3. (**SCI Journal**, Impact Factor = 2.259, Ranking = 39/136(0.287), Physics, Applied)
- 115. **Paul C.-P. Chao**\*, Chi-Wei Chiu, J.-S. Huang and Chien-Ming Chen, 2009, "Design and Construction of an In-situ Inspection Machine for Ensuring the Dynamic Performance of Fluid Bearings in Data Storage Devices," *Microsystem Technologies*, Vol. 15, No. 1-2, pp. 1547-1556. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), Engineering, Electrical & Electronic)
- 116. Tse-Yi Tu , <u>Paul C.-P. Chao</u>\*, Chi-Wei Chiu, Chun-Chieh Wang, and Jeng-Sheng Huang, 2009, "Fuzzy Control Design of a Magnetically-Actuated Optical Image Stabilizer with Hystersis Compensation," *Journal of Applied Physics*, Vol. 105, Issue 7, pp. 07F124-1-07F124-3. (**SCI Journal**, Impact Factor = 2.259, Ranking = 39/136(0.287), cited by 1 times, Physics, Applied, NSC-96-2220-E-009-029).
- 117. Lun-De Liao, <u>Paul C.-P. Chao</u>\*, Yu-Jhu Lin, Chi-Wei Chiu, Shaou-Gang Miaou, Ming Chang and Jeng-Sheng Huang, 2009, "Precision Micro-/Nano-machining in a Scanning Electron Microscope by Run-to-Run Control Based on Image Feedbacks," *Microelectronic Engineering*, Vol. 86, Issue 4-6, pp. 1162-1168, 2009. (SCI Journal, Impact Factor = 1.382, Ranking = 110/247(0.445), cited by 2 times, Engineering, Electrical & Electronic, NSC-96-2220-E-009-029 and NSC-95-2745-E-033-004-URD)
- 118. Paul C.-P. Chao\* and Chien-Yu Shen, 2009, "Sensorless Tilt Compensation for a Three-axis Optical Pickup Using a Sliding-mode Controller Equipped with a Sliding-mode Observer," IEEE Transactions on Control System Technology, Vol. 17, Issue 2, pp. 267-282. (SCI Journal, Impact Factor = 3.015, Ranking = 41/247(0.166), cited by 3 times, Engineering, Electrical & Electronic, NSC-96-2221-E-009-069 and NSC-96-2622- E-009-010-CC3)
- 119. Chi-Wei Chiu, Yu-Cheng Lin, <u>Paul C.-P. Chao</u>\*, Andy Y -G Fuh, 2008, "Achieving High Focusing Power for a Large Aperture Liquid Crystal Lens with Novel Hole-and-Ring Electrodes," *Optics Express*, Vol. 16, Issue 23, pp. 19277-19284, 2008. (**SCI Journal**, Impact Factor = 3.533, Ranking = 6/82(0.073), cited by 18 times, Optics, NSC-97-2220-E-009-029, NSC-96-2622-E-009-010-CC3, NSC-96-2745-E-033-004-URD and NSC-96-2212-E-033-010).
- 120. Paul C.-P. Chao\*, C.-W. Chiu, T.-H. Liu, 2008, "DC dynamic pull-in predictions for a generalized clamped—clamped micro-beam based on a continuous model and bifurcation analysis," *Journal of Micromechanics and Micro-engineering*, Vol. 18, No. 11, pp. 115008, Nov, 2008. (SCI Journal, Impact Factor = 2.045, Ranking = 38/138(0.275), cited by 17 times, Mechanics, NSC-95-2221-E-009-367, NSC-95-2745-E-033-004-URD and NSC- 95-2622-E-009-014-CC3).
- 121. <u>Paul C.-P. Chao</u>\*, Chi-Wei Chiu, He-Kai Liang and Y.-Y. Kao, 2008, "Intelligent Actuation Strategy via Image Feedbacks for a Magnetically Actuated Autofocusing Module

- in Mobile Phones," *Journal of Applied Physics*, Vol. 103, No. 7, 07F123-1-3. (**SCI Journal**, Impact Factor = 2.259, Ranking = 39/136(0.287), cited by 3 times, Physics, Applied, NSC-95-2221-E-009-367, NSC-95-2745-E-033-004-URD and NSC-95-2622-E-009-014-CC3)
- Paul C.-P. Chao\*, C.-Y. Shen, C.-W. Chiu, J.-S. Huang, Y.-Y. Kao, T.-Y. Tu, C.-L. Wang, H.-W. Lin, Solomon Chi and S.-Y. Tsai, 2008, "A Novel Lens Cap Designed for the RGB LEDs Installed in an Ultra-Thin and Directly Lit Backlight Unit of Large-Sized LCD TVs," *Journal of Society of Information Display*, Vol. 16, No. 2, pp. 317-327. (SCI Journal, Impact Factor = 0.798, Ranking = 166/247(0.672), cited by 2 times, Engineering, Electrical & Electronic, NSC-95-2221-E-009-367, NSC-95-2745-E-033-004-URD and NSC-95-2622-E-009-014-CC3)
- 123. Chi-Wei Chiu, <u>Paul C.-P. Chao</u>\*, Y.-Y. Kao and Fu-Kuan Young, 2008, "Optimal Design and Experimental Verification of Magnetically Actuated Optical Image Stabilization System for Cameras in Mobile Phones," *Journal of Applied Physics*, Vol. 103, No. 7, 07F136-1-3. (**SCI Journal**, Impact Factor = 2.259, Ranking = 39/136(0.287), cited by 8 times, Physics, Applied NSC-96-2622-E-009-010-CC3)
- 124. <u>Paul C.-P. Chao</u>\*, J.-W. Hsueh, Y.-Y. Kao, C.-W. Chiu, Y.-C. Lin and T.-Y. Du, 2008, "Opto-mechatronic Design and Implementation of a Tunable LC Lens," <u>Invited Paper</u> for *Journal of Automation, Special Issue on Optomachatronics*, Mar, 2008, pp. 24-30. (Impact Factor = 0.056, Ranking = 59/59(1), Automation & Control Systems) (Local Chinese Journal)
- Paul C.-P. Chao\*, Chi-Wei Chiu and Kai-Teng Shih, 2008, "A Novel Low-Torque Ball Re-Positioning Scheme Based on a Sliding-mode Ball Observer for an Automatic Balancer System," *Shock and Vibration*, Vol. 15, No. 2, pp. 101-126. (**SCI Journal**, Impact Factor = 0.611, Ranking = 89/126(0.706), cited by 1 times, Engineering, Mechanical, NSC-94-2622-E-033-001 and NSC-94-2754-E-033-004)
- 126. <u>Paul C.-P. Chao</u>\*, Lun-De Liao, Yi-Hua Fang, Chien-Yu Shen, Yung-Yuan Kao and Jeng-Sheng Huang, 2008, "Analytical Calculation of the Light Extraction Efficiency of Micro Cavities Light-emitting Diodes," *Key Engineering Material*, Vol. 364-366, pp. 98-103. (EI Journal, NSC-93-2221-E-009-367 and NSC-95-2475-E-033-004-URD)
- 127. <u>Paul C.-P. Chao</u>\*, Lun-De Liao, Chi-Wei Chiu and Chien-Yu Shen, 2008, "Enhancement of the Optical Performances for the LED Backlight Systems with a Novel Lens-Cap," *Key Engineering Material*, Vol. 364-366, pp. 132-137. (E**I Journal**, NSC-93-2221-E-009-367 and NSC-95-2622-E-009-014-CC3)
- 128. <u>Paul C.-P. Chao</u>\*, Lun-De Liao, Chi-Wei Chiu and Chien-Yu Shen, 2008, "Design of a Highly-Efficient Light Guide Plate for the Edge Lighting Backlight Module," *Key Engineering Material*, Vol. 364-366, pp. 128-131. (**EI Journal**)
- 129. Chi-Wei Chiu, <u>Paul C.-P. Chao</u>\*, and Din-Yuan Wu, 2007, "Optimal Design of Magnetic Actuated Optical Image Stabilization Mechanism for Cameras in Mobile Phones via Genetic Algorithm," *IEEE Transactions on Magnetics*, Vol. 43, No. 6, pp. 2582-2584. (SCI Journal, Impact Factor = 1.301, Ranking = 125/247(0.506), cited by 34 times, Engineering, Electrical & Electronic, NSC-95-2221-E-009-367)

- 130. <u>Paul C.-P. Chao</u>\* and Chien-Yu Shen, 2007, "Dynamic Modeling and Experimental Verification of a Piezoelectric Part Feeder in a Structure with Parallel Bimorph Beams," *Ultrasonics*, Vol. 46, pp. 205-218. (**SCI Journal**, Impact Factor = 1.948, Ranking = 8/29(0.276), cited by 5 times, Acoustics, NSC-95-2221-E-009-367 and NSC-95-2745 -E-033-004-URD)
- 131. Paul C.-P. Chao\*, Chi-Wei Chiu, and Yuan Hsu-Pang, 2007, "Magneto-Electro-Dynamical Modeling and Design of a Micro-Speaker Used for Mobile Phones with Considerations of Diaphragm Corrugation and Air Closure," *IEEE Transactions on Magnetics* Vol. 43, No. 6, pp. 2585-2587. (SCI Journal, Impact Factor = 1.301, Ranking = 125/247(0.506), cited by 4 times, Engineering, Electrical & Electronic, NSC-95-2622-E-009-014-CC3)
- Paul C.-P. Chao\* and I-Ting Wang, 2007, "Dynamical Modeling and Experimental Validation of a Micro-speaker with Corrugated Diaphragm for Mobile Phones", *Microsystem Technologies*, Vol. 13, pp. 1241-1252. (SCI Journal, Impact Factor = 1.581, Ranking = 172/262(0.656), cited by 2 times, Engineering, Electrical & Electronic, NSC-94-2622-E-033-011-CC3, NSC-94-2212-E-033-010 and NSC-94-2745-E-033-004- URD)
- 133. **Paul C.-P. Chao**\* and Sung-Ching Wu, 2007, "Optimal Design of Magnetic Zooming Mechanism Used in Cameras of Mobile Phones via Genetic Algorithm," *IEEE Transactions on Magnetics*, Vol. 43, No. 6, pp. 2579-2581. (**SCI Journal**, Impact Factor = 1.301, Ranking = 125/247(0.506), cited by 11 times, Engineering, Electrical & Electronic, NSC-95-2745-E-033-004-URD)
- 134. **Paul C.-P. Chao**\*, Cheng-Kuo Sung, Szu-Tuo Wu and Jeng-Sheng Huang, 2007, "Non-planar Modeling and Experimental Validation of a Spindle-Disk System Equipped with an Automatic Ball Balancer System in Optical Disk Drives," *Microsystem Technologies*, Vol. 13, pp. 1227-1239. (**SCI Journal**, Impact Factor = 1.581, Ranking = 172/262(0.656), cited by 6 times, Engineering, Electrical & Electronic, NSC-94-2622-E-033-011-CC3 and NSC-94-2212-E-033-010)
- 135. <u>Paul C.-P. Chao</u>\* and Chien-Yu Shen, 2007, "Design and Implementation of a Sliding-mode Controller and a High-Gain Observer for Output Tracking of a Three-axis Pickup," *Sensors and Actuators: A. Physical*, Vol. 135, pp. 713- 730. (**SCI Journal**, Impact Factor = 2.143, Ranking = 12/57(0.211), cited by 2 times, Instruments & Instrumentation, NSC-93-2212-E-033-001 and NSC-94-2622-E-033-001-CC3)
- 136. Chi-Wei Chiu\* and <u>Paul C.-P. Chao</u>, 2006, "Development of a Precision Inspection Machine for Assuring the Dynamic Quality of the Pick-ups Used in Optical Disc Drives," *Journal of Chinese Society of Mechanical Engineering, Series C*, Vol. 27, No. 5, pp. 581-586. (SCIE Journal, Impact Factor = 0.454, Ranking = 102/126(0.81), Engineering, Mechanical)
- 137. <u>Paul C.-P. Chao</u>\*, Chi-Wei Chiu and C. Y. Tsai, 2006, "A Novel Method to Predict the Pull-in Voltage in a Closed Form for Deformed Micro-plates Actuated by a Distributed Electrostatic Force," *Journal of Micromechanics and Micro-engineering*, Vol. 16, pp. 986-

- 998. (**SCI Journal**, Impact Factor = 2.045, Ranking = 38/138(0.275), cited by 48 times, Engineering, Mechanical, NSC-94-2212-E-033-010 and NSC-94-2745-E-033-004-URD)
- 138. <u>Paul C.-P. Chao</u>\*, Ben-Cheng Yo, Cheng-Kuo Sung and Chi-Wei Chiu, 2006, "Nonlinear Dynamic Effects of Damping Washers on the Performance of Automatic Ball Balancers in Optical Disc Drives," *International Journal of Nonlinear Sciences and Numerical Simulations*, Vol. 7, No. 3, pp. 275-278. (**SCI Journal**, Impact Factor = 0.849, Ranking = 69/87(0.793), cited by 1 times, Engineering, Multidisciplinary)
- 139. Paul C.-P. Chao\*, Pen-Yen Liao and Jeng-Sheng Huang, 2006, "A Novel Microscopic Modeling on Hysteresis Effects of Piezoelectric Structures with Assistance from Finite Elements," *International Journal of Nonlinear Sciences and Numerical Simulations*, Vol. 7, No. 3, pp. 269-274. (SCI Journal, Impact Factor = 0.849, Ranking = 69/87(0.793), cited by 7 times, Engineering, Multidisciplinary)
- 140. **Paul C.-P. Chao**\*, Chun-Lung Huang, Cheng-Kuo Sung and Jeng-Sheng Haung, 2005, "Precision Re-positioning of the balancing ball in an auto-balancer system via a fuzzy speed regulator equipped with a sliding-mode observer," *IEEE Transactions on Control Systems Technology*, Vol. 13, No. 6, pp. 1107-1118. (**SCI Journal**, Impact Factor = 3.015, Ranking = 41/247(0.166), cited by 3 times, Engineering, Electrical & Electronic, NSC-91-2212-E-033-004 and NSC-93-2212-E-033-001)
- 141. <u>Paul C.-P. Chao</u>\*, Chun-Chieh Wang, and Cheng-Kuo Sung, 2005, "Dynamic Analysis of the Optical Disk Drives Equipped with an Automatic Ball Balancer with Consideration of Torsional Motion," *ASME Journal of Applied Mechanics*, Vol. 72, pp. 826-842. (SCI Journal, Impact Factor = 1.626, Ranking = 66/138(0.478), cited by 10 times, Mechanics, NSC-91-2212-E-194-019 and NSC-91-2212-E-033-004)
- Paul C.-P. Chao\*, Cheng-Kuo Sung and Hui-Chung Leu, 2005, "Effects of Rolling Friction of the Balancing Balls on the Automatic Ball Balancer for Optical Disk Drives," *ASME Journal of Tribology*, Vol. 127, pp. 845-856. (SCI Journal, Impact Factor = 2.165, Ranking = 18/126(0.143), Engineering, Mechanical, NSC-93-2212-E-033-001)
- 143. <u>Paul C.-P. Chao</u>\* and Jeng-Sheng Huang, 2005, "Calculating Rotordynamic Coefficients of a Ferrofluid -lubricated and Herringbone-Grooved Journal Bearing via Finite Difference Analysis," *Tribology Letters*, Vol. 19, No. 2. pp. 101-110. (**SCI Journal**, Impact Factor = 2.236, Ranking = 17/126(0.135), cited by 5 times, Engineering, Mechanical, NSC-92-2212-E-033-001)
- Paul C.-P. Chao\*, Cheng-Liang Lai, and Jeng-Sheng Huang, 2004, "Intelligent Actuation Strategy for a Three-DOF Four-wire Type Optical Pickup," *Sensors and Actuators: A. Physical*, Vol. 117, No. 1, pp. 28- 40. (SCI Journal, Impact Factor = 2.143, Ranking = 12/57(0.211), cited by 3 times, Instruments & Instrumentation, NSC-91-2212-E-033-004 and NSC-91-2212-E-033-005)
- 145. <u>Paul C.-P. Chao</u>\*, Jeng-Sheng Huang and Chi-Wei Chiu, 2004, "Optimal Profile Design for the Resonator Beam of an Ultrasonic Motor via Finite Element Modeling and Taguchi Methodology," *ASME Journal of Vibration and Acoustics*, Vol. 126, pp. 465- 475.

- (**SCI Journal**, Impact Factor = 0.366, Ranking = 108/126(0.857), Engineering, Mechanical, NSC-90-2212-E-033-006 and NSC-90-2212-E033-010)
- 146. Chun-Chieh Wang, Cheng-Kuo Sung\*, and <u>Paul C. P. Chao</u>, 2003, "Measurement system for the vibrations of an optical disc drive equipped with the automatic balancer system," *Mechatronics Magazine*, Vol. 11, pp. 122-125. (Impact Factor = 1.947, Ranking = 27/126(0.214), Engineering, Mechanical) (Chinese magazine)
- Paul C.-P. Chao\*, Jeng-Sheng Huang, and Cheng-Liang Lai, July, 2003, "Nonlinear Dynamic Modeling and Actuation Strategy for a Three-axis Four-wire Type Optical Pickup," *Sensors and Actuators: A. Physical*, Vol. 105, No. 2, pp. 171- 182. (SCI Journal, Impact Factor = 2.143, Ranking = 12/57(0.211), cited by 9 times, Instruments & Instrumentation, NSC-90-2212-E-033-010 and NSC-90-2212-E-033-044)
- Paul C.-P. Chao\*, Yaw-Der Huang and Cheng-Kuo Sung, Nov, 2003, "Non-planar Dynamic Modeling and Analysis of an Automatic Balancer System Equipped with Multiple Balancing Balls," *Mechanism and Machine Theory*, Vol 38, No. 11, pp. 1289-1305. (SCI Journal, Impact Factor = 1.728, Ranking = 37/126(0.294), Engineering, Mechanical, NSC-89-2218-E-007-020 and NSC-89-2218-E-033-024)
- 149. <u>Chang-Po Chao</u>\* and Cheng-Liang Lai, 2003, "Boundary Control of an Axially Moving String via Fuzzy Sliding-Mode and Fuzzy Neural Network Methods," *Journal of Sound and Vibration*, Vol. 262, No.4, pp 795 813. (**SCI Journal**, Impact Factor = 2.151, Ranking = 26/126(0.206), cited by 11 times, Engineering, Mechanical, NSC-89-2213-E-033-044 and NSC-89-2218-E-033-024)
- 150. Y. Kang\*, <u>Chang-Po Chao</u>, C.-C. Chou, M.-H. Chu, L.-H. Mu, 2002, "An Integration Method for Detecting Chaotic Responses of Nonlinear Systems Subjected to Double Excitations," *International Journal of Nonlinear Mechanics*, Vol. 37, Issue 6, pp.1073-1077. (SCI Journal, Impact Factor = 1.673, Ranking = 56/138(0.406), cited by 3 times, Mechanics)
- 151. Wei-Yu Huang, <u>Chang-Po Chao</u>\*, Jaan-Rong Kang and Cheng-Kuo Sung, 2002, "The Application of Ball-Type Balancers on Radial Vibration Reduction of High-Speed Optic Disk Drives," *Journal of Sound and Vibration*, Vol. 250, pp. 415-430. (**SCI Journal**, Impact Factor = 2.151, Ranking = 26/126(0.206), cited by 32 times, Engineering, Mechanical, NSC-88-2212-E-007-030)
- 152. Jaan-Rong Kang, <u>Chang-Po Chao</u>\*, Chun-Lung Huang and Cheng-Kuo Sung, 2001, "The Dynamics of Ball-type Balancer System Equipped with a Pair of Free-moving Balancing Masses," *ASME Journal of Vibration and Acoustics*, Vol. 123, pp. 456-465. (**SCI Journal**, Impact Factor = 0.366, Ranking = 108/126(0.857), cited by 23 times, Engineering, Mechanical, NSC-88-2212-E-007-030)
- 153. <u>Chang-Po Chao</u>, Y. Kang\*, S.-S. Shyr and C. C. Chou, 2001, "Periodicity in the Averaged Histories of Chaotic Oscillators," *Journal of Sound and Vibration*, Vol. 245, pp. 17-27. (**SCI Journal**, Impact Factor = 2.151, Ranking = 26/126(0.206), cited by 1 times, Engineering, Mechanical)
- 154. Chang-Po Chao and Steven W. Shaw\*, 2000, "The Dynamic Response of Multiple

- Pairs of Subharmonic Torsional Vibration Absorbers," *Journal of Sound and Vibration*, Vol. 231, pp.411-431. (**SCI Journal**, Impact Factor = 2.151, Ranking = 26/126(0.206), cited by 15 times, Engineering, Mechanical)
- 155. <u>Chang-Po Chao</u> and Steven W. Shaw\*, 1998, "Effects of Imperfections and Mistunings on the Performance of Subharmonic Vibration Absorber System," *Journal of Sound and Vibration*, Vol. 215, pp.1065-1099. (**SCI Journal**, Impact Factor = 2.151, Ranking = 26/126(0.206), cited by 5 times, Engineering, Mechanical)
- Chang-Po Chao, Steven W. Shaw\* and Cheng-Tang Lee, 1997, "Stability of the Unison Response for a Rotating System with Multiple Tautochronic Pendulum Vibration Absorbers," *ASME Journal of Applied Mechanics*, Vol. 164, pp. 149-156. (SCI Journal, Impact Factor = 1.626, Ranking = 66/138(0.478), cited by 21 times, Mechanics)
- 157. <u>Chang-Po Chao</u>, Steven W. Shaw\* and Cheng-Tang Lee, 1997, "Non-unison Dynamics of Multiple Centrifugal Pendulum Vibration Absorbers," *Journal of Sound and Vibration*, Vol. 204, pp. 769-794. (**SCI Journal**, Impact Factor = 2.151, Ranking = 26/126(0.206), cited by 30 times, Engineering, Mechanical)
- 158. <u>Chang-Po Chao</u> and Phillip M. FitzSimons\*, May, 1997, "Semiglobal Stabilization for a Large Class of Nonlinear System Using Conic Sector Bounds," *Automatica*, Vol. 33, No. 5, pp. 945-953. (**SCI Journal**, Impact Factor = 4.423, Ranking = 26/247(0.105), Engineering, Electrical & Electronic)

## 研討會論文:

- 1. W.-W. Yen and P. C. . -P. Chao, "Lossless Current Sensing Approach for Backpack Energy Harvester," IECON 2020 *The 46th Annual Conference of the IEEE Industrial Electronics Society, Singapore*, Singapore, 2020, pp. 1861-1865, doi: 10.1109/IECON43393.2020.9254450. (**EI Publication**)
- 2. Nguyen, Ba-Sy, and Paul C-P. Chao. "A switch module stacked with 4/3 IGBTS with balanced voltage sharing for pef applications." *Information Storage and Processing Systems*. Vol. 83600. American Society of Mechanical Engineers, 2020. (EI Publication)
- 3. Chen, Yu-Ting, Tse-Yi Tu, and Paul C-P. Chao. "The multi wavelength arrayed flexible PPG sensing patch for to estimate heart rate and blood oxygen." *ASME 2020 29th Conference on Information Storage and Processing Systems*. American Society of Mechanical Engineers Digital Collection, 2020. **(EI Publication)**
- 4. Chang, C-P., W-W. Yen, and Paul C-P. Chao. "A new wireless power transfer circuit with a single-stage regulating rectifier for flexible sensor patches." *ASME 2020 29th Conference on Information Storage and Processing Systems*. American Society of Mechanical Engineers Digital Collection, 2020. (EI Publication)
- 5. Yen, W-W., and Paul C-P. Chao. "A novel energy harvester in a backpack via precision sensing of back electromotive force." *ASME 2020 29th Conference on Information Storage and Processing Systems*. American Society of Mechanical Engineers Digital Collection, 2020. (**EI Publication**)

- 6. Lin, Jerry, Rajeev Kumar Pandey, and Paul C-P. Chao. "Implementation of reduce AI-NN model for highly accurate blood pressure measurement." *Information Storage and Processing Systems*. Vol. 83600. American Society of Mechanical Engineers, 2020. (**EI Publication**)
- 7. Pribadi, Eka Fitrah, Rajeev Kumar Pandey, and Paul C-P. Chao. "A 2nd-Order Continuous Time Delta-Sigma Modulator for Photoplethysmography Analog Front-End." *Information Storage and Processing Systems*. Vol. 83600. American Society of Mechanical Engineers, 2020. (EI Publication)
- 8. Pandey, Rajeev Kumar, Jerry Lin, and Paul C-P. Chao. "Design of a new long-time continuous photoplethysmography signal acquisition system to obtain accurate measurement of heart rate." *Information Storage and Processing Systems*. Vol. 83600. American Society of Mechanical Engineers, 2020. (**EI Publication**)
- 9. R. K. Pandey, E. F. Pribadi and P. C. -. Chao, "A New Adaptive Readout System For a New OLED OPD Flexible Patch PPG Sensor," *2019 IEEE SENSORS*, Montreal, QC, Canada, 2019, pp. 1-4, doi: 10.1109/SENSORS43011.2019.8956825. (**EI Publication**)
- 10. Chiang, P. Y., Chao, P. C., Tu, T. Y., Kao, Y. H., Yang, C. Y., Wey, C. L., & Nguyen, D. H. (2019, October). Quality Evaluation via PPG on the AVFs of Hemodialysis Patients Based on Both Blood Flow Volume and Degree of Stenosis. In *18th IEEE Sensors, SENSORS* 2019 (p. 8956895). Institute of Electrical and Electronics Engineers Inc. (**EI Publication**)
- 11. Chen, W. Y., Zhang, Y. F., Chao, P. C., & Pribadi, E. F. (2019, January). Design and implementation of a high accuracy interpolation encoder ic for magnetic sensor. In *ASME* 2019 28th Conference on Information Storage and Processing Systems, ISPS 2019. American Society of Mechanical Engineers (ASME). (EI Publication)
- 12. Lin, Y. J., Su, Y. C., Chao, P. C., Zhang, J. Y., & Pribadi, E. F. (2019, January). Application of code division multiple access technology in readout circuit and system design for an ultrathin on-cell flexible capacitive touch panel. In *ASME 2019 28th Conference on Information Storage and Processing Systems, ISPS 2019*. American Society of Mechanical Engineers (ASME). (EI Publication)
- 13. Pandey, R., Huang, T. H., Ho, W. H., Chao, P. C., & Pribadi, E. F. (2019, January). Achieving sensing precision of 0.5 nA in pixel with 7μs settling time by a new external current sensing circuit for amoled displays. In *ASME 2019 28th Conference on Information Storage and Processing Systems, ISPS 2019*. American Society of Mechanical Engineers (ASME). (EI Publication)
- 14. Yeh, Ming Hua, Paul C-P. Chao, and Rajeev Pandey. "A new on-chip real-time algorithm for non-invasive cuffless blood pressure estimation using PPG sensor." *ASME 2019 28th Conference on Information Storage and Processing Systems*. American Society of Mechanical Engineers Digital Collection, 2019. (**EI Publication**)
- 15. Pribadi, E. F., & Chao, P. C. P. (2019, January). Optical simulation for designing a PPG signal patch. In *ASME 2019 28th Conference on Information Storage and Processing Systems*. American Society of Mechanical Engineers Digital Collection. (**EI Publication**)
- 16. Wu, Y. C., Kao, Y. H., Paul, C. P., Wey, C. L., Sauter, T., Eka, F. P., & Pandey, R. (2018,

- October). Design and Implementation of OLED Driving and OPD Readout Circuitry for an Optical Vibration Sensor. In *2018 IEEE SENSORS* (pp. 1-4). IEEE. **(EI Publication)**
- 17. Priyanka, K. N. G., Chao, P. C. P., Tu, T. Y., Kao, Y. H., Yeh, M. H., Pandey, R., & Eka, F. P. (2018, October). Estimating Blood Pressure via Artificial Neural Networks Based on Measured Photoplethysmography Waveforms. In 2018 IEEE SENSORS (pp. 1-4). IEEE. (EI Publication)
- 18. Yang, Ching-Cheng, Paul C-P. Chao, and Rajeev Kumar Pandey. "A Highly Efficient and Adaptable Solar-Energy Harvesting Circuit for Batteryless IoT Devices." *ASME-JSME 2018 Joint International Conference on Information Storage and Processing Systems and Micromechatronics for Information and Precision Equipment*. American Society of Mechanical Engineers Digital Collection. (**EI Publication**)
- 19. Liu, Ming Cheng, Chang-Po Chao, and Soh Sze Khiong. "Low-power and Reference-Less data and clock recovery circuit for visible light receivers." *ASME-JSME 2018 Joint International Conference on Information Storage and Processing Systems and Micromechatronics for Information and Precision Equipment, ISPS-MIPE 2018*. American Society of Mechanical Engineers (ASME), 2018. (EI Publication)
- 20. Tan-Phat Phan, Paul C-P Chao, Jia-Jun Cai, Yu-Jen Wang, Sheng-Ching Wang, Kyle Wong, 2018, "A novel 6-DOF force/torque sensor for COBOTs and its calibration method," *The 2018 IEEE International Conference on Applied System Invention (ICASI)*, pp. 1228-1231. (**EI Publication**)
- 21. Chun-Kai Cheng, Paul C-P Chao, 2018, "Chaos synchronization between Josephson junction and classical chaotic system via iterative learning control," *The 2018 IEEE International Conference on Applied System Invention (ICASI)*, pp. 1232-1235. (**EI Publication**)
- 22. Yung-Hua Kao, Paul C-P Chao, Yueh Hung, Chin-Long Wey, 2017, "Live demonstration: A novel cuffless photoplethysmography sensor for continuous blood pressure measurement," *SENSORS*, 2017 IEEE, 1-1. (**EI Publication**)
- 23. Yuan-Po Cheng, Paul C-P Chao, Guan-Yu Men, Ching-Cheng Yang, Tong-Wen Wang, 2017, An 80% effeciency and highly adaptable PV energy harvest circuitry with MPPT for IOT devices, *SENSORS*, 2017 IEEE, 1-3. (**EI Publication**)
- 24. Chun-Hao Wu, Paul C-P Chao, Yi-Cheng Wu, Thilo Sauter, Hsiao-Wen Zan, 2017, "A new readout/driver circuitry for an optical vibration sensor," *SENSORS*, 2017 IEEE, 1-3. (EI Publication)
- 25. Yung-Hua Kao, Paul C-P Chao, Yueh Hung, Chin-Long Wey, 2017, "A new reflective PPG LED-PD sensor module for cuffless blood pressure measurement at wrist artery," *SENSORS*, 2017 IEEE, 1-3. (**EI Publication**)
- 26. Ming-Hung Yu, Paul C-P Chao, 2017, "Single-Input Multi-Output Converter With Backup Battery for Energy Harvesting System of the Gas Sensor," *ASME 2017 Conference on Information Storage and Processing Systems*, San Francisco, CA, USA. (**EI Publication**)
- 27. Yung-Hua Kao, Paul C-P Chao, Chin-Long Wey, 2017, "A Continuous Opto-Electronic Sensor for Blood Pressure Monitoring with Real-Time System," *ASME 2017 Conference on*

- Information Storage and Processing Systems, San Francisco, CA, USA. (EI Publication)
- 28. Paul C-P Chao, Tse-Yi Tu, 2017, "Using the Time-Domain Characterization for Estimation Continuous Blood Pressure via Neural Network Method," *ASME 2017 Conference on Information Storage and Processing Systems*, San Francisco, CA, USA. (**EI Publication**)
- 29. Tsung-Yen Ku, Paul C-P Chao, Chin-Hai Huang, En-Chih Liu, Ming-Hua Yeh, Han-Chang Chen, Tong-Wen Wang, 2017, "Design and Implement the Readout Circuit of an In-Cell High-Resolution Capacitive Touch Panel," *ASME 2017 Conference on Information Storage and Processing Systems*, San Francisco, CA, USA. (**EI Publication**)
- 30. Paul C-P Chao, Pei-Yu Chiang, 2017, "Photoplethysmography signals processing using polynomial profile fitting for measuring the blood flow volume in arteriovenous fistula," *ASME 2017 Conference on Information Storage and Processing Systems*, San Francisco, CA, USA. (**EI Publication**)
- 31. Chun-Kai Cheng, Paul C-P Chao, 2017, "Chaotic Synchronizing Systems via Iterative Learning Control," *The 2017 IEEE International Conference on Applied System Invention (ICASI)*, pp. 453-456. (**EI Publication**)
- 32. Huai-San Wang, Kang-Fu Qiu, Paul C-P Chao, 2017, "Five-axis stabilization system for a 2-DOF translational OIS," *The 2017 IEEE International Conference on Applied System Invention (ICASI)*, pp. 1946-1949. (**EI Publication**)
- 33. Yung-Hua Kao, Paul C-P Chao, Chin-Long Wey, 2017, "A PPG sensor for continuous cuffless blood pressure monitoring with self-adaptive signal processing," *The 2017 IEEE International Conference on Applied System Invention (ICASI)*, pp. 357-360. (**EI Publication**)
- 34. Tan-Phat Phan, Paul C-P Chao, Jia-Jun Cai, Yu-Jen Wang, Sheng-Ching Wang, Kyle Wong, 2017, "Theoretical development with proper approximation and the corresponding clinical experiments for PPG sensor monitoring blood flow volume of hemodialysis patients with arteriovenous fistula," *The 2017 IEEE International Conference on Applied System Invention (ICASI)*, pp. 311-314. (**EI Publication**)
- 35. Tse-Yi Tu, Paul C-P Chao, Chih Wei Lee, 2017, "A new readout circuit for a high resolution portable blood pressure sensing system," *The 2017 IEEE International Conference on Applied System Invention (ICASI)*, pp. 260-263. (**EI Publication**)
- 36. Yung-Hua Kao, Paul C-P Chao, Tse-Yi Tu, Keng-Yueh Chiang, Chin-Long Wey, 2016, "A new cuffless optical sensor for blood pressure measuring with self-adaptive signal processing," *SENSORS*, 2016 IEEE, 1-3. (**EI Publication**)
- 37. Trong-Hieu Tran, Paul C-P Chao, Chin-I Su, Hsiao-Wen Zan, 2016, "A fast readout circuit for an organic vertical nano-junction sensor," *SENSORS*, 2016 IEEE, 1-3. (**EI Publication**)
- 38. Paul C-P Chao, Li-Chi Hsu, Trong-Hieu Tran, 2016, "A New Small-Sized Non-Dispersive Infrared (NDIR) Sensor and its Drive/Readout Circuits," *ASME 2016 Conference on Information Storage and Processing Systems*, San Francisco, CA, USA. (**EI Publication**)
- 39. Paul C-P Chao, Chin-I Su, Trong-Hieu Tran, Hsiao-Wen Zan, 2016, "A 3.2 mW Mixed-Signal Readout Circuit for an Organic Vertical Nano-Junctions Sensor," *ASME 2016 Conference on Information Storage and Processing Systems*, San Francisco, CA, USA. (EI

#### **Publication**)

- 40. Paul C-P Chao, Kuo-Yu Chou, Chang-Xian Wu, Chuan-Xin Chen, Yi-Chuan Lu, Chien-Ju Li, Heng-Yin Chen, 2016, "Modeling and Analysis of Touch on the Flexible Ultra-Thin Touch Panel by Using the Finite Element Method," *ASME 2016 Conference on Information Storage and Processing Systems*, San Francisco, CA, USA. (**EI Publication**)
- 41. Hsiang-Fang Sun, Paul C-P Chao, Chang-Xian Wu, Durgesh Samadhiya, Chuan-Xin Chen, Guan-jun Luo, Yi-Chuan Lu, 2016, "P-181: The Novel Sensing System for a Flexible Capacitive Touch Panel," *SID Symposium Digest of Technical Papers*, pp. 1818-1821. (EI Publication)
- 42. Dong-Lin Tsai, Yu-Jen Wang, Chun-Chieh Wang, Wei-Der Chung, Paul C-P Chao, Cheng-Tang Pan, 2015, "Preliminary Study of a Four-axis Force/Torque Sensor and its calibration machine for an Assistive Robot Arm," *Proceedings of the international Convention on Rehabilitation Engineering & Assistive Technology*, pp. 11.
- 43. Ping-Chieh Chien, Yung-Hua Kao, Hong-Yang Chen, Jing-Hao Huang, Paul C-P Chao, Chin-Long Wey, 2015, "Live demonstration: A new adaptive front-end readout circuit for high-resolution magnetic scales," *SENSORS*, 2015 IEEE, 1-4. (**EI Publication**)
- 44. Ping-Chieh Chien, Yung-Hua Kao, Hong-Yang Chen, Jing-Hao Huang, Paul C-P Chao, Chin-Long Wey, 2015, "A new adaptive front-end circuit for high-resolution magnetic scales," *SENSORS*, 2015 IEEE, 1-4. (**EI Publication**)
- 45. Dong-Lin Tsai, Yu-Jen Wang, Chun-Chieh Wang, Paul C-P Chao, 2015, "A Six-Axis Force and Torque Generation Machine," *Proceedings of the 14th IFToMM World Congress*, pp. 435-439.
- 46. Tse-Yi Tu, Yung-Hua Kao, Paul C-P Chao, Durgesh Samadhiya, 2015, "Effects of Mis-Positioning a New Cuffless Blood Pressure Sensor and Optimal Design via a 3D Fluid-Solid-Electric Finite Element Model," *The ASME 2015 International Design Engineering Technical Conferences and Computers and Information in Engineering Conference*, USA. (EI Publication)
- 47. Yung-Hua Kao, Tse-Yi Tu, Paul C-P Chao, 2015, "TuD-2-2 A Novel 3D Solid-Fluid-Electric Finite Element Model with Cuffless Strain Blood Pressure Sensor," *Proceedings of JSME-IIP/ASME-ISPS Joint Conference on Micromechatronics for Information and Precision Equipment: IIP/ISPS joint MIPE 2015*, Japan. (**EI Publication**)
- 48. Chun-Kai Chang, Paul C-P Chao, Chun-Kai Cheng, Yuan-Po Cheng, Durgesh Samadhiya, 2015, "MoP-29 Improving Performance of a Single Inductor Multi-Output (SIMO) DC-DC Converter Using Constant On-Time," *Proceedings of JSME-IIP/ASME-ISPS Joint Conference on Micromechatronics for Information and Precision Equipment: IIP/ISPS joint MIPE 2015*, Japan. (EI Publication)
- 49. Kai-Yu Shao, Sheng-Chieh Huang, Trong-Hieu Tran, Pei-Yu Chiang, Paul C-P Chao, 2015, "TuD-2-1 Readout of a Sensor for Melanin Evaluation and Blood Pressure Measurement," Proceedings of JSME-IIP/ASME-ISPS Joint Conference on Micromechatronics for Information and Precision Equipment: IIP/ISPS joint MIPE 2015, Japan. (EI Publication)

- 50. Ming-Hung Yu, Paul C-P Chao, 2015, "MoP-41 Analysis and Compare of Si and SiC MOSFET on Bidirectional Grid-Connected Inverter with PSIM," *Proceedings of JSME-IIP/ASME-ISPS Joint Conference on Micromechatronics for Information and Precision Equipment: IIP/ISPS joint MIPE 2015*, Japan. (**EI Publication**)
- 51. Chun-Kai Chang, Chung-Hsin Su, Yung-Hua Kao, Ming-Hung Yu, Thilo Sauter, Paul C-P Chao, 2015, 'A new single inductor bipolar multiple output (SIBMO) boost converter using pulse frequency modulation (PFM) control for OLED drivers and optical transducers," *Quality Electronic Design (ISQED), 2015 16th International Symposium on*, pp. 552-555. (**EI Publication**)
- 52. Thilo Sauter, Wilfried Hortschitz, Harald Steiner, Michael Stifter, Hsin Chiao, Hsiao Wen Zan, Hsin-Fei Meng, Paul Chao, 2014, "Making optical MEMS sensors more compact using organic light sources and detectors," *Emerging Technology and Factory Automation (ETFA)*, 2014 IEEE, pp. 1-4. (**EI Publication**)
- 53. Paul C.-P. Chao\* and Hsuan-Wen Peng, 2014, "A new small-sized pierce crystal oscillator readout with novel on-chip all-digital temperature sensing and compensation," *The 2014 IEEE Sensors Conference*, Vol. 1-3, Valencia, Spain, Nov.. 2014. (**EI Publication**)
- 54. Tse-Yi Tu, Yung-Hua Kao, Paul C.-P. Chao\*, Yung-Pin Lee, 2014, "Optimizing a new blood pressure sensor for maximum performance based on finite element model," *The 2014 IEEE Sensors Conference*, Vol. 1-3, Valencia, Spain, Nov., 2014. (**EI Publication**)
- 55. Tran Trong Hieu, Paul C.-P. Chao\*, Yu-Jen Wang, and Chun-Chieh Wang, 2014, "A New Method for Calibrating a Six-DOF Joint Force/Torque Sensor," *The 24th Annual ASME Conference on Information Storage and Processing Systems*, held on June 23-24, 2014 at the Santa Clara University in California, USA. (Best Paper Award of the Conference, EI Publication)
- 56. Chun-Kai Chang and Paul C.-P. Chao, 2014, "A New Single Inductor Bipolar Multiple Output (SIBMO) On-Chip Boost Converter Using Ripple-based Constant On-time Control for LCD Drivers," *The 40th Annual Conference of IEEE Industrial Electronics Society*, Vol. 1-3, Dallas, TX, USA, Oct., 2014. (**EI Publication**)
- 57. Tse-Yi Tu, Paul C.-P. Chao\*, Yung-Pin Lee, and Yung-Hua Kao, 2014, "Optimal Design and experimental validation of a new no-cuff blood pressure sensor based on a finite element model," *The ASME 2014 International Design Engineering Technical Conferences*, held on August 17-20, 2014, Buffalo, NY, USA. (**EI Publication**)
- 58. Paul C.-P. Chao\*, Ching-Hua Kuan, and Jia-Wei Su, 2014, "An Optimized On-Chip Boost-type DC-DC Converter with an On-board Inductance," *The 24th Annual ASME Conference on Information Storage and Processing Systems*, held on June 23-24, 2014 at the Santa Clara University in California, USA. (**Best Paper Award of the Conference**, **EI Publication**)
- 59. Paul C.-P. Chao\*, Li-Chi Hsu, Yu-Feng Li and Chin-Wei Chun, 2014, "Design and development of a wireless fall detection module for homecare," *The 24th Annual ASME Conference on Information Storage and Processing Systems*, held on June 23-24, 2014 at the Santa Clara University in California, USA. (**EI Publication**)

- 60. Paul C.-P. Chao\*, Yen-Ping Hsu, Yung-Hua Kao and Kuei-Yu Lee, 2014, "A New Prediction Model on the Luminance of OLEDs Subjected to Different Reverse Biases for Alleviating Degradation in AMOLED Displays," *The 24th Annual ASME Conference on Information Storage and Processing Systems*, held on June 23-24, 2014 at the Santa Clara University in California, USA. (Best Paper Award of the Conference, EI Publication)
- 61. Chang-Xiang Wu, Yen-Lin Pan, Hsiang-Fang Sun, Paul C.-P. Chao, Hung-Ming Tsai, 2012, "Modeling and analysis of the flexible touch panel on the flexible active-matrix OLED display," *SID Digest, The Conference of Society of Information Display*, 2014 in San Diego, CA, USA, June 2 7, 2014. (**EI Publication**)
- 62. Hung-Che Chen, Paul C.-P. Chao\*, Wei-Chu Lin, Hsiang-Fang Sun, Ming-Zhi Dai, and Hsiao-Wen Zan, 2013, "A New Gas Sensor of a Thin-Film Diode and Low- Power, Area-Efficient Readout Circuit," *The 2013 IEEE Sensors Conference*, Vol. 1-3, Baltimore, USA, Oct. 2013. (**EI Publication**)
- 63. Tse-Yi Tu, Paul C.-P. Chao\*, Yung-Pin Lee, 2013, "A New Non-Invasive Cuff-Less Blood Pressure Sensor," *The 2013 IEEE Sensors Conference*, Vol. 1-3, Baltimore, USA, Oct. 2013. (**EI Publication**)
- 64. Paul C.-P. Chao\*, Chao-Te Chiang, Tzu-Chia Huang and Chun-Kai Chang, 2013, "Achieving Maximum Power Efficiency of a Novel Rectifier Charge Pump by Impedance Matching in an Energy Harvester Suited for Self-Powered Sensors," *The 2013 IEEE Sensors Conference*, Vol. 1-3, Baltimore, USA, Oct. 2013. (**EI Publication**)
- 65. Yen-Ping Hsu, Paul C.-P. Chao\*, and Kuei-Yu Lee, "A New Prediction Model on the Luminance of OLEDs Subjected to Different Reverse Biases for Alleviating Degradation in AMOLED Displays," *The 2013 International Display Manufacturing Conference*, held on August 27-30, 2013, Taipei, Taiwan.
- 66. Yen-Lin Pan, Hung-Ming Tsai, Chen-Pang Kung, Heng-Yin Chen, and Paul C.-P. Chao\*, and Jang-Lin Chen, "Numerical Modeling and Analysis of Flexible Projective Capacitive Touch Panel," *The 2013 International Display Manufacturing Conference*, held on August 27-30, 2013, Taipei, Taiwan.
- 67. T. C. Huang, Paul C.-P. Chao, W.-D. Chen, C.-H. Tsai, C. X. Lu and C. K. Sung, 2013, "Dynamic analysis of Hula Hoop motion and optimized energy harvest circuit," *the ASME 2013 International Design Engineering Technical Conferences*, held on August 4-7, 2013, Portland, Oregon, USA, USA. (**EI Publication**)
- 68. Paul C.-P. Chao\*, W. D. Chen and R. H. Wu, 2013, "A Battery Charge Controller for a Flyback Converter with Digital Primary Side Regulation," *The 23th Annual ASME Conference on Information Storage and Processing Systems*, held on June 24-25, 2013 at the Santa Clara University in California, USA. (Best Paper Award of the Conference, EI Publication)
- 69. Paul C.-P. Chao\*, Wei-Hsuan Hsu and C. H. Tsai, 2013, "A New Active 3D Optical Proximity Sensor Array and Its Readout Circuit," *The 23th Annual ASME Conference on Information Storage and Processing Systems*, held on June 24-25, 2013 at the Santa Clara

- University in California, USA. (EI Publication)
- 70. Paul C.-P. Chao\*, Tse-Yi Tu, and Yung-Yuan Kao, 2013, "An LCL-Lens Array with Electrodes of Interlaced Structure in Applications of Auto-Stereoscopic Displays," *The 23th Annual ASME Conference on Information Storage and Processing Systems*, held on June 24-25, 2013 at the Santa Clara University in California, USA. (**EI Publication**)
- 71. Wei-Hsuan Hsu, Paul C.-P. Chao\*, W. D. Chen and C. H. Tsai, 2013, "An On-line Digital Optical Bench Tester Based on Conscopy for Lens Quality Evaluation," *The 23th Annual ASME Conference on Information Storage and Processing Systems*, held on June 24-25, 2013 at the Santa Clara University in California, USA. (**EI Publication**)
- 72. Paul C.-P. Chao\*, Jian-Ruei Chen, C. H. Tsai, and W. D. Chen, 2013, "Design and Realization of High Resolution (640x480) SWIR Image Acquisition," *The 23th Annual ASME Conference on Information Storage and Processing Systems*, held on June 24-25, 2013 at the Santa Clara University in California, USA. (**EI Publication**)
- 73. Kuei-Yu Lee, Yen-Ping Hsu, and Paul C.-P. Chao\*, 2012, "Sensing TFT V<sub>th</sub> by an External Algorithm to Compensate Non-uniformity on AMOLED Panel," 2012 IEEE Sensors Conference, Vol. 1-3, Taipei, Taiwan, Oct. 2012. (EI Publication)
- 74. Kuei-Yu Lee, Yen-Ping Hsu<sup>1</sup>, and Paul C.-P. Chao\*, 2012, "Compensating OLED Degradation in an AMOLED Display Based on Measurements," *SID Digest, The Conference of Society of Information Display*, 2012 in Boston, MA, USA, June 3 8, 2012. (**EI Publication**).
- 75. Bing-Ze Xue and Paul C.-P. Chao\*, 2012, "A new bio-sensor in the structure of a micro-machined clamped-clamped inertial beam and its readout circuit," *the ASME 2012 International Design Engineering Technical Conferences*, held on August 12-15, 2012, Chicago, USA. (EI Publication)
- 76. Kai-Teng Shih, Paul C.-P. Chao\*, *Yung-Yuan Ka*o, "Developing a Quality Assessment Method for Evaluating Focusing Quality of an LC lens used in an Optical Pickup," *2012 IEEE/ASME International Conference on Advanced Intelligent Mechatronics*, July 11-14, Kaohsiung, Taiwan, 2012.
- 77. Paul C.-P. Chao\*, Wei-Dar Chen and Chih-Kuo Chang, 2012, "Maximum Power Tracking of a Generic Photovoltaic System via a Fuzzy Controller and a Two-Stage DC-DC Converter," *The 22th Annual ASME Conference on Information Storage and Processing Systems*, held on June 18-20, 2012 at the Santa Clara University in California, USA. (**EI** Publication)
- 78. Che-Hung Tsai and Paul C.-P. Chao\*, 2012, "Optimal Design of ITO/organic Photonic Crystals in Polymer Light-emitting Diodes with Sidewall Reflectors for High Efficiency," *The 22th Annual ASME Conference on Information Storage and Processing Systems*, held on June 18-20, 2012 at the Santa Clara University in California, USA. (EI Publication)
- 79. Tse-Yi Tu and Paul C.-P. Chao\*, 2012, "A New Liquid Crystal Lens with Axis-Tunability via Three Sector Electrodes," *The 22th Annual ASME Conference on Information Storage and Processing Systems*, held on June 18-20, 2012 at the Santa Clara University in California, USA. (**EI Publication**)

- 80. T. C. Chan, C.-K. Sung and Paul C.-P. Chao, 2012, "Friction effect on ball positioning of an automatic balancer in optical disk drives," *The 22th Annual ASME Conference on Information Storage and Processing Systems*, held on June 18-20, 2012 at the Santa Clara University in California, USA. (**EI Publication**)
- 81. Paul C.-P. Chao\* and Chun-Wei Chiu, 2012, "Design and Experimental Validation of a Sliding-Mode Stabilizer for a Ship-Carried Satellite Antenna," *The 22th Annual ASME Conference on Information Storage and Processing Systems*, held on June 18-20, 2012 at the Santa Clara University in California, USA. (**EI Publication**)
- 82. Tzu-Chia Huang, Fu-Ming Hsu, Paul C.-P. Chao\*, 2011, "An Energy Harvesting System with a Novel Rectifier Charge Pump," 2011 IEEE Sensors Conference, Vol. 1-3,, Limerick, Ireland, Oct. 2011. (EI Publication)
- 83. Bing-Ze Xue, Paul C.-P. Chao\*, Bor-Shyh Lin, Chun-Yin Tsai, Tsung-Lin Chen, Hsin-Hao Liao, Hann-Huei Tsai, Ying-Zong Juang, 2011, "A Novel Gas Sensor in the Form of Micromachined Resonator and its Readout Circuit," 2011 IEEE Sensors Conference, Vol. 1-3, Limerick, Ireland, Oct. 2011. (EI Publication)
- 84. Wan-Jun Lin, Paul C.-P. Chao\*, Shir-Kuan Lin, Hsiao-Wen Zan, 2011, "A Novel Readout Circuit for an OTFD Gas Sensor with a New Front-end Trans-impedance Amplifier," *2011 IEEE Sensors Conference*, Vol. 1-3, Limerick, Ireland, Oct. 2011. (**SCI Publication**)
- 85. Paul. C.-P. Chao\*, Po-Hung Lu and Chun-Wei Chiu, 2011, "Dynamic modeling of a traveling-wave type ultrasonic motor with beam teeth via finite elements," *the ASME 2011 International Design Engineering Technical Conferences*, held on August 29-31, 2011, Washington, DC, USA. (**EI** Publication)
- 86. Paul C.-P. Chao\*, Wei-Dar Chen and Chih-Kuo Chang, 2011, "Maximum Power Tracking of a Generic Photovoltaic System via a Fuzzy Controller and a Two-Stage DC-DC Converter," *The 21th Annual ASME Conference on Information Storage and Processing Systems*, held on June 13-14, 2011 at the Santa Clara University in California. (**EI Publication**)
- 87. Che-Hung Tsai and Paul C.-P. Chao\*, 2011 "Optimal Design of ITO/organic Photonic Crystals in Polymer Light-emitting Diodes with Sidewall Reflectors for High Efficiency," *The 21th Annual ASME Conference on Information Storage and Processing Systems*, held on June 13-14, 2011 at the Santa Clara University in California. (**EI Publication**)
- 88. Paul C.-P. Chao\* and Chun-Wei Chiu, 2011, "Design and Experimental Validation of a Sliding-Mode Stabilizer for a Ship-Carried Satellite Antenna," *The 21th Annual ASME Conference on Information Storage and Processing Systems*, held on June 13-14, 2011 at the Santa Clara University in California. (**EI Publication**)
- 89. Tse-Yi Tu and Paul C.-P. Chao\*, 2011, "A New Liquid Crystal Lens with Axis-Tunability via Three Sector Electrodes," *The 21th Annual ASME Conference on Information Storage and Processing Systems*, held on June 13-14, 2011 at the Santa Clara University in California. (**EI Publication**)
- 90. T. C. Chan, C.-K. Sung and Paul C.-P. Chao "Friction effect on ball positioning of an automatic balancer in optical disk drives," *The 21th Annual ASME Conference on Information*

- *Storage and Processing Systems*, held on June 13-14, 2011 at the Santa Clara University in California. (**EI Publication**)
- 91. Chao-Jui Hsu and Paul C. -P. Chao, 2011, "A Negative Liquid-Crystal Lens with Multi-Ring Electrodes in Unequal Widths ," *SID Digest*, **42** 5, *The Conference of Society of Information Display*, 2011 in LA, CA, USA, May 15 20, 2011. (**EI Publication**).
- 92. Tzu-Fan Huang, Yung-Yuan Kao, and Paul C. -P. Chao, "Tracking Hand-gestures with Depth Detection for a 3D Interactive Display," *SID Digest*, **42** 1830, *The Conference of Society of Information Display*, 2011 in LA, CA, USA, May 15 20, 2011. (**EI Publication**).
- 93. Yung-Yuan Kao and Paul C. -P. Chao, "Sizing Multi-electrodes in an LCL-lens for Minimizing the Crosstalk in a 3D Auto-stereoscopic Display," *SID Digest*, **42** 13, *The Conference of Society of Information Display*, 2011 in LA, CA, USA, May 15 20, 2011. (EI Publication).
- 94. Kuei-Yu Lee, Jui-Hsin Chang, Paul C. -P. Chao, Chiu-Hao Chen, Zon-Tim Tsai, Hong-Shen Lin, Lee-Hsun Chang, and Yu-Sin Lin, "Realizing a New Pixel Circuit Design for Alleviating OLED Degradation in a 2.4 Inch AMOLED Panel," *SID Digest*, **42** 1173, *The Conference of Society of Information Display*, 2011 in LA, CA, USA, May 15 20, 2011. (**EI Publication**).
- 95. Yu-Han Chen, Paul C.-P. Chao, Che-Hung Tsai and Wei-Dar Chen, "Design and Development of a New Two-DOF Rotational Optical Image Stabilizer," *Proceedings of 2011 8th Asian Control Conference (ASCC)*, pp. 775-760, Kaohsiung, Taiwan, May 15-18, 2011.
- 96. Tzu-Yang Lin, Paul C.-P. Chao, Wei-Dar Chen, and Che-Hung Tsai, 2010, "A Novel 3D Optical Proximity Sensor Panel and its Readout Circuit," *2010 IEEE Sensors Conference*, Vol. 1-3, pp. 108-113, Waikoloa, Big Island, Hawaii, USA, Nov. 2010. (EI Publication)
- 97. Juan-Yao Ruan, Paul C.-P. Chao and Wei-Dar Chen, 2010, "A Multi-Touch Interface Circuit for a Large-Sized Capacitive Touch Panel," 2010 IEEE Sensors Conference, Vol. 1-3, pp. 309-314, Waikoloa, Big Island, Hawaii, USA, Nov. 2010. (EI Publication)
- 98. Chao-Jui Hsu, Yung-Yuan Kao and Paul C.-P. Chao\*, "An Liquid Crystal Negative Lens with Unequal Width Electrodes," *The Micro-optics Conference 2010*, Hsinchu, Taiwan, October 31 Nov 3, 2010.
- 99. Yu-Han Chen, Paul C.-P. Chao and Chi-Wei Chiu, "Optimal Design and Realization of a Novel Optical Image Stabilizer," *The Micro-optics Conference 2010*, Hsinchu, Taiwan, October 31 Nov 3, 2010.
- 100. Yung-Yuan Kao, Paul C.-P. Chao and Yan-Pean Huang, "A LC Lenticular Lens Array with Staggered Electrodes for WXGA LCD in Applications of Auto-Stereoscopic 3D Display," *The Micro-optics Conference 2010*, Hsinchu, Taiwan, October 31 Nov 3, 2010.
- 101. Kuei-Yu Lee, Jui-Hsin Chang, Paul C.-P. Chao and Fang-Chung Chen, 2010, "A new driving pixel circuit to alleviate AMOLED degradation," SID Digest, *The Conference of Society of Information Display*, 2010 in Seattle, WA, USA, May 23 28, 2010. (EI Publication).
- 102. T. Y. Tu, C. W. Chiu, and Paul P. C. Chao, 2010, "Optical Design and Fabrication of the Tunable-axis Liquid Crystal Lens," Proceedings of *The fifth Asia-Pacific Conference on*

- *Transducers and Micro-Nano Technology*, in Perth, Australia, July 6 9, 2010.
- 103. Y. Y. Kao, C. W. Chiu, and Paul P. C. Chao, 2010, "A DFLC Lens with Ring-and-Pie Electrodes and a New Driving Scheme to Minimize Response Time," Proceedings of *The fifth Asia-Pacific Conference on Transducers and Micro-Nano Technology*, in Perth, Australia, July 6 9, 2010.
- 104. Paul C.-P. Chao\*, Pen-Yen Liao and Meng-Yen Tsai, 2010, "Robust Control Design for Precision Positioning of a Generic Piezoelectric System with Consideration of Microscopic Hysteresis Effects," *The 20th Annual ASME Conference on Information Storage and Processing Systems*, held on June 14-15, 2010 at the Santa Clara University in California. (**EI Publication**)
- 105. Paul C.-P. Chao\*, C. I. Shao, C. X. Lu and C. K. Sung, 2010, "A New Energy Harvest System with a Hula-Hoop Transformer, Micro-generator and Interface Energy-Harvesting Circuit," *The 20th Annual ASME Conference on Information Storage and Processing Systems*, held on June 14-15, 2010 at the Santa Clara University in California. (**EI Publication**)
- 106. Yu-Han Chen, Paul C.-P. Chao\*, Chi-Wei Chiu, Meng-Yen Tsai, Jyh-Yeong Chang and Shir-Kuan Lin, 2010, "A New Two-DOF Rotational Optical Image Stabilizer," *The 20th Annual ASME Conference on Information Storage and Processing Systems*, held on June 14-15, 2010 at the Santa Clara University in California. (**EI Publication**, **Best Paper Award**)
- 107. Paul C.-P. Chao, Chao-Jui Hsu and Yung-Yuan Kao, 2010, "A Thin Multi-Ring Negative Liquid Crystal Lens Enabled by High-κ Dielectric Material," *The 20th Annual ASME Conference on Information Storage and Processing Systems*, held on June 14-15, 2010 at the Santa Clara University in California. (**EI Publication**)
- 108. Lun-De Liao, Paul C.-P. Chao, Bor-Shyh Lin, Ming-Hsiu Chung, Arch W.-G. Sun, Shia-Chung Chen, Li-Wei Ko, Chin-Teng Lin, 2009, "A Novel Hybrid Bioelectrode Module for the Zero-Prep EEG Measurements," 2009 IEEE Sensors Conference, Vol. 1-3, pp. 894-897, Christ Church, New Zealand, Oct. 2009. (SCI Publication)
- 109. Lun-De Liao, Paul C.-P. Chao, Bor-Shyh Lin, Ming-Hsiu Chung, Arch W.-G. Sun, Shia-Chung Chen, Li-Wei Ko, Chin-Teng Lin, 2009, "A Novel Flexible and Zero-Preparation Dry EEG Injection Molding Sensor (DEIMS)," 2010 IEEE Sensors Conferences, Christ Church, New Zealand, Oct. 2009. (EI Publication)
- 110. Lun-De Liao, Meng-Lin Li<sup>b</sup>, Hsin-Yi Lai, You-Yin Chen, Paul C.-P. Chao and Po-Hsun Wang, "In vivo functional photoacoustic micro-imaging of the electrically stimulated rat brain with multi-wavelengths," the SPIE Symposium on SPIE BiOS: Biomedical Optics, Photons Plus Ultrasound: Imaging and Sensing 2010, 23-28 January 2010 at SPIE Photonics West in San Francisco, California, USA. (EI Publication)
- 111. Wei-Yi Chuang and Paul C.-P. Chao, 2010, "Adjusting Electrode Potentials to Compensate Thermal/Tissue Effects in Deep Brain Stimulation via Finite Element Electromagnetic Analysis," *The 11<sup>th</sup> joint MMM-Intermag Conference*, Jan 18-22, 2010, Washington DC, USA. (**EI Publication**)
- 112. Chi-Wei Chiu, Yu-Han Chen, Tzu-Fan Huang, Paul C.-P. Chao, 2010, "Robust and

- Optimal Design of a Novel Optical Image Stabilizer with the Capability of Suppressing Magnetic Torque Variations," *The 11<sup>th</sup> joint MMM-Intermag Conference*, Jan 18-22, 2010, Washington DC, USA. (**EI Publication**)
- 113. Lun-De Liao, Paul C.-P. Chao, Bor-Shyh Lin, Ming-Hsiu Chung, Arch W.-G. Sun, Shia-Chung Chen, Li-Wei Ko and Chin-Teng Lin, "A Novel Flexible and Zero-Preparation Dry EEG Injection Molding Sensor (DEIMS)," *Biomedical Engineering Society 2009 Annual Symposium*, Dec. 11-12, 2009, National Yang-Ming University, Taipei, Taiwan.
- 114. T. C. Chan, Cheng-Kuo Sung and Paul C.-P. Chao "Precision Ball Positioning of an Automatic Balancer System," **Best Paper Award of the Conference**, *The 12-th National Conference on Mechanism and Machine Theory*, Nov., 2009, pp. 1-6, Chia-Yi, Taiwan.
- 115. Lun-De Liao, Paul C.-P. Chao, Yu-Jhu Lin, Chi-Wei Chiu, Shaou-Gang Miaou, Ming Chang and Jeng-Sheng Huang, "Precision Micro-/Nano- machining in a Scanning Electron Microscope by Run-to-Run Control Based on Image Feedbacks," <u>Best Student Paper Award of the Conference</u>, The 16<sup>th</sup> Symposium on Nano-Device Technology, Apr, 2009, Hsinchu, Taiwan.
- 116. Y-Y. Chen, Y-J. Chang, P.C-P. Chao, S-W. Chen, K-C. Hung, P-Y. Zhou, K-M. Hung, Y-H. Kuo, M-Y. Tsai, TY. Pu, "Multi-electrode Arrays Chip Addressed by VCSEL Array System for Neural Recording," *The 34<sup>th</sup> International Conference on Micro and Nano Engineering*, Ghent, Belgium, Sep. 28-Oct. 1, 2009.
- 117. Hsin-Yi Lai, You-Yin Chen, Lun-De Liao, Wei-Yi Chuang and Paul C.-P. Chao, 2009, "Design and Experimental Validations of a Novel Flexible Neural Probe for Deep Brain Stimulation and Recording," *The 34<sup>th</sup> International Conference on Micro and Nano Engineering*, Ghent, Belgium, Sep. 28-Oct. 1, 2009.
- 118. Che-Hung Tsai, Lun-De Liao, Paul C.-P. Chao, In-Chen Chen, Hsin-Fei Meng, Wei-Dar Chen, Shir-Kuan Lin and Chin-Teng Lin, "Optimal Design and Fabrication of ITO/Organic Photonic Crystals in Polymer Light Emitting Diodes using a Focused Ion Beam," *The 34<sup>th</sup> International Conference on Micro and Nano Engineering*, Ghent, Belgium, Sep. 28-Oct. 1, 2009.
- 119. Paul C.-P. Chao, Nicholas Y.-Y. Kao, K.-X. Yang, Y.-P. Huang, "3D Display Technology by Means of 2D-muiltiplexed Method Based on Electric-controlled Liquid-crystal-lens Array," *The CPT-NCTU research results conference*, Hsinchu, Taiwan, July, 2009.
- 120. Chih-Kuo Chang and Paul C.-P. Chao, "Hybrid High Sensitivity MEMS Microphone Fabrication Processes," *The 14th North-East Asia Symposium on Nano, Information Technology and Reliability*, Hsinchu, Taiwan, May 15, 2009.
- 121. Chieh-Wen Hsueh and Paul C.-P. Chao, "Novel Hole and Ring Electrodes to Achieve High Focusing Power for a Large-aperture Liquid Crystal Lens," *The 14th North-East Asia Symposium on Nano, Information Technology and Reliability*, Hsinchu, Taiwan, May 15, 2009.
- 122. Jian-Ting Chen and Paul C.-P. Chao, "A Micro-generator with Planar Coils and Its

- Energy Harvest Circuit," *The 14th North-East Asia Symposium on Nano, Information Technology and Reliability*, Hsinchu, Taiwan, May 15, 2009.
- 123. Lun-De Liao and Paul C.-P. Chao, "Run-to-Run Control Based on Image Feedbacks for Precision Micro-/Nano- machining in a Scanning Electron Microscope," *The 14th North-East Asia Symposium on Nano, Information Technology and Reliability*, Hsinchu, Taiwan, May 15, 2009.
- 124. Wei-Huesh Hsu and Paul C.-P. Chao, "An On-line Digital Optical Bench Tester for Evaluating Lens Quality," *The 14th North-East Asia Symposium on Nano, Information Technology and Reliability*, Hsinchu, Taiwan, May 15, 2009.
- 125. Lun-De Liao, Paul C.-P. Chao, Bor-Shyh Lin, Ming-Hsiu Chung, Arch W.-G. Sun, Shia-Chung Chen, Li-Wei Ko, Chin-Teng Lin, 2009, "A Novel Flexible and Zero-Preparation Dry EEG Injection Molding Sensor (DEIMS)," 2009 IEEE Sensors Conference, Christ Church, New Zealand, Oct. 2009. (EI Publication)
- 126. Lun-De Liao, Wei-Huesh Hsu, Paul C.-P. Chao and Yan-Pean Huang, 2009, "Development of an On-line Digital Optical Bench Tester with Conoscopy for Lens Quality Evaluation," 2009 JSME-IIP/ASME-ISPS Joint Conference on Micromechatronics for Information and Precision Equipment, June 17-20, 2009, Tsukuba International Congress Center, Ibaraki, Japan. (EI Publication)
- 127. C. X. Lu, C. C. Wang, C. K. Sung and Paul C.-P. Chao, 2009, "Dynamic analysis of a motion transformer mimicking a hula hoop," *The ASME 2009 International Design Engineering Technical Conferences & Computers and Information in Engineering Conference*, Oct. 30-Sep. 2, San Diego, CA, USA. (**EI Publication**)
- 128. Tzu Chi Chan, C. K. Sung, Paul C.-P. Chao and Y. M. Hung, "Effects of rolling friction on Ball Positioning for an Automatic Ball Balancer," *The ASME 2009 International Design Engineering Technical Conferences & Computers and Information in Engineering Conference*, Oct. 30-Sep. 2, San Diego, CA, USA. (**EI Publication**)
- 129. Lun-De Liao, Paul C.-P. Chao, Jian-Ting Chen, Wei-Dar Chen, Wei-Hsuan Hsu, Chi-Wei Chiu and Chin-Teng Lin, 2009, "A Miniaturized Electromagnetic Generator with Planar Coils and Its Energy Harvest Circuit," *The Intermag Conference* held in Sacramento, California, on May 4-8, 2009. (EI Publication)
- 130. Yung-Yuan Kao, Yan-Pean Huang, Kai-Xian Yang and Paul C.-P. Chao, 2009, "An Auto-Stereoscopic 3D Display Using Tunable Liquid Crystal Lens Array that Mimics Effects of GRIN Lenticular Lens Array," SID Digest, *The Conference of Society of Information Display*, 2009 in San Antonio, Texas, USA, May 31 June 5, 2009. (**EI Publication**)
- 131. Lun-De Liao, Paul C.-P. Chao, Yi-Shiun Luo, Hsin-Fei Meng, Chin-Teng Lin, 2009, "Achieving High Directionality and Extraction of Light Emission from Polymer Light Emitting Diodes via ITO/Organic Photonic Crystals," SID Digest, *The Conference of Society of Information Display*, 2009 in San Antonio, Texas, USA, May 31 June 5, 2009. (EI Publication)
- 132. Yi-Ling Yang, Paul C.-P. Chao, C.-K. Sung, 2009, "Landing Posture Control via

- Trajectory Planning for a Generalized Twin-body System," *The 4th International Conference on Autonomous Robots and Agent*, in Wellington, New Zealand, Feb 10 12., 2009. (**EI Publication**)
- 133. Jiun-De Li, Lun-De Liao, Tse-yi Tu, Chi-Wei Chiu, Paul C.-P. Chao, 2009, "Optimize Placement Angles of RGB LEDs for Backlight Module by Genetic Algorithm," *International conference on Optics and Photonics* in Taipei, Taiwan, Dec 5 6, 2008. (**EI Publication**)
- 134. Yung-Yuan Kao, Paul C.-P. Chao\*, Chang-Chun Chang, Jeng-Sheng Huang, 2008, "Performance Prediction of a Small-sized Herringbone-grooved Bearing with Ferro-fluid Lubrication Considering Cavitation," *The 53th Magnetism and Magnetic Materials* conference held in Austin, Texas on November 10-14, 2008. (**EI Publication**)
- 135. Tse-Yi Tu, Paul C.-P. Chao\*, Chi-Wei Chiu, Chun-Chieh Wang, Jeng-Sheng Huang, 2008, "Fuzzy Control Design of a Magnetically-Actuated Optical Image Stabilizer with Hystersis Compensation," *The 53th Magnetism and Magnetic Materials* conference held in Austin, Texas on November 10-14, 2008. (**EI Publication**)
- 136. T. C. Chan, C. K. Sung, Chang-Po Chao and Chun-Lung Huang, "A Study on the Performance of ABB Influenced by Rolling Friction," China Society for Mechanical Engineering 25<sup>th</sup> Conference, Taiwan, R.O.C., Nov. 22-23, 2008.
- 137. Lun-De Liao, Paul C.-P. Chao\*, Chi-Wei Chiu, Yu-Jhu Lin, Shaou-Gang Miaou, Ming Chang and Jeng-Sheng Huang, 2008, "Precision Nano-machining in a Scanning Electron Microscope by Run-to-Run Control Based on Image Feedbacks," *The 34<sup>th</sup> International Conference on Micro and Nano Engineering*, Hilton Athens, Greece, Sep. 15-18, 2008.
- 138. Paul C.-P. Chao\*, Lun-De Liao, Tsung-Shien Lu, Chien-Wei Liu and Chi-Wei Chiu, 2008, "Design and Fabrication of a Low-Stress Membrane for Microphones via Low Temperature Processes," *The 34<sup>th</sup> International Conference on Micro and Nano Engineering*, Hilton Athens, Greece, Sep. 15-18, 2008.
- 139. Chun-Yin Tsai, Chi-Wei Chiu and Paul C.-P. Chao\*, 2008, "Reliable hybrid fabrication processes for high sensitivity MEMS microphone," *The 34<sup>th</sup> International Conference on Micro and Nano Engineering*, Hilton Athens, Greece, Sep. 15-18, 2008.
- 140. Paul C.-P. Chao\*, Lun-De Liao, Ming-Hsun Chung and Jeng-Sheng Hunag, 2008, "Robust Dual-stage and Repetitive Control Designs for an Optical Pickup with Parallel Cantilever Beams Powered by Piezo-Actuators," *The 17th Annual ASME Conference on Information Storage and Processing Systems*, held on June 16-17, 2008 at the Santa Clara University in California. (**EI Publication**)
- 141. Paul C.-P. Chao J.-Y. Shen and J.-S. Huang, 2008, "Precision Positioning of a Three-axis Optical Pickup via a Double Phase-Lead Compensator Equipped with Auto-tuned Parameters," *The 17th Annual ASME Conference on Information Storage and Processing Systems*, held on June 16-17, 2008 at the Santa Clara University in California. (**EI Publication**)
- 142. Paul C.-P. Chao, C.-Y. Shen, C.-W. Chiu, J.-S. Huang, C.-L. Wang, Solomon Chi, H.-W. Lin and S.-Y. Tsai, "Achieving Color Balance of a Large Sized BLU Directly—Lit by

- LEDs capped with Customized Optical Lenses," The **SID2008** Conference, Los Angles, USA. May 20-23, 2008, *SID 08 Digest*, pp. 870-873.
- 143. Paul C.-P. Chao, Wei-Dar Chen, and Chi-Wei Chiu, "Design, Fabrication and Experimental Validation of a Miniaturized Rotary Generator with Planar Coils and Optimization via Genetic Algorithm," *The Intermag Conference* held in Madrid, Spain, on May 4-8, 2008. (**EI Publication**)
- 144. Yu-Zheng Lin, Chi-Wei Chiu and Paul C.-P. Chao, "Tunable Focus Length Liquid Crystal Lens with Multi-ring Type Electrode Pattern," OPT2007, Taipei, Taiwan.
- 145. H.-K. Liang, Paul C.-P. Chao and Jeng-Sheng Huang, "A Study of Fast Auto-focusing Method using GA-based Neural Network," Proceedings of *the 2007 Congress of Chinese Society of Mechanical Engineering*, Chungli, Taiwan, Nov. 23-24, 2007.
- 146. Bo-Hong Lu, Yi-Chang Huang, Yu-Jhu Lin1, Paul C.-P. Chao, Shaou-Gang Miaou, Ming Chang and Jeng-Sheng Huang, "Image Servo Control for Three-dimensional Nanomachining System," *The 2007 CACS International Automatic Control Conference*, National Chung Hsing University, Taichung, Taiwan, Nov. 9-11, 2007.
- 147. Paul C.- P. Chao, C.- W. Chiu, Tsu-Hsien Liu, "Pull-in Predictions for a Electrostatically Actuated Micro-Beam Based on a Continuous Model and Bifurcation Analysis," *The 31<sup>st</sup> National Conference on Theoretical and Applied Mechanics*, December 21-22, 2007, ISU, Kaohsiung, Taiwan, R.O.C.
- 148. Yi-Ling Yang, Paul C.-P. Chao, Cheng-Kuo Sung, 2007, "Landing Posture Control of a Generalized 5-RDOF Twin-body System via Methods of Input-output Linearization and PD Control," *The 46<sup>th</sup> IEEE Conference on Decision and Control*, Dec 12-14, New Orlean, LA, USA, pp. 1681-1686. (**EI Publication**)
- 149. Chi-Wei Chiu, Paul C.-P. Chao and Fu-Kuan Young, 2007 "Optimal Design and Experimental Verification of Magnetic Actuated Optical Image Stabilization System for Camera Phone," *The 10th Joint MMM/Intermag Conference* to be held in Tempa, Florida on November 5-9, 2007. (**EI Publication**)
- 150. Paul C.-P. Chao, Chi-Wei Chiu and He-Kai Liang, 2007, "Design and Actuation Strategy of a Magnetically-Actuated Auto-Focusing Module for Mobile Phones," *The 52th Magnetism and Magnetic Materials* conference to be held in Tempa, Florida on November 5-9, 2007. (**EI Publication**)
- 151. C.-Y. Shen, C.-W. Chiu, C.-P. Chao, J.-S. Huang, H.-W. Lin, "Novel Lens Design for Ultra-Thin, High Efficiency of Light Utilization, Direct Type RGB LED Backlight Module," *The 14h International Display Workshops*, December 5-7, 2007, Sapporo Convention Center, Sapporo, Japan.
- 152. Paul C.-P. Chao, Rong-Jhe Chen, Lun-De Liao, Chi-Wei Chiu, "A Novel Design of Micro-Lens Array on Liquid Crystal Displays for the Backlight Efficiency Enhancement," *The 14h International Display Workshops*, December 5-7, 2007, Sapporo Convention Center, Sapporo, Japan.
- 153. Lun-De. Liao, Paul C.-P. Chao and Chi-Wei. Chiu, "Optimal Design of the Photonic

- Crystal Fiber by means of the Genetic Algorithm and Three-Dimensional Finite-Difference Time-Domain Methods," *The 14h International Display Workshops*, December 5-7, 2007, Sapporo Convention Center, Sapporo, Japan.
- 154. Yi-Ling Yang, Paul C.-P. Chao, Cheng-Kuo Sung, "Landing Posture Control of a Generalized Twin-body System with a three-DOF joint," *The 33<sup>rd</sup> Annual Conference of the IEEE Industrial Electronics Society*, pp. 563-567, Nov. 5-8, 2007, Taipei, Taiwan. (**EI Publication**)
- 155. Yi-Ling Yang, Paul C.-P. Chao, Cheng-Kuo Sung, "Landing Posture Control of a Generalized Twin-body System via Methods of Input-output Linearization and Computed Torque," *ASME 2007 International Design Engineering Technical Conference*, Sep. 4-7, 2007, Las Vegas, Nevada, USA. (**EI Publication**)
- 156. Cheng-Kuo Sung and Paul C.-P. Chao, "Impulsive responses of a hula hoop," *The Fourteenth International Congress on Sound and Vibration (ICSV14)*, July 9-12, 2007, Cairns, Australia.
- 157. C. C. Wang, C. K. Sung and Paul C.-P. Chao, "Dynamic Analysis on a Hula Hoop Functioning as a Motion Transformer," *12th IFToMM World Congress*, Besançon (France), June18-21, 2007. (**EI Publication**)
- 158. Chao, Paul C. -P., Liao, Lun-De, Chiu and Chi-Wei, "Design and experimental validation of the complex luminance model for the cold cathode fluorescent lamps backlight systems," Proceedings of Asia Display 2007, Vols 1 and 2, Volume, Issue, Mar 12-16, 2007, Pages 1562-1562.
- 159. Chiu Chi-Wei, Shen Chien-Yu and Chao Paul C. -P., "Novel lens design and experimental verification for high efficiency direct lype backlight module of LCD-TVs," Proceedings of Asia Display 2007, Vols 1 and 2, Volume, Issue, Mar 12-16, 2007, Pages 303-304.
- 160. Chiu Chi-Wei, Shen Chien-Yu and Chao Paul C. -P., "Electromagnetic numerical characterization of the liquid crystal lens using finite-difference time domain method," Proceedings of Asia Display 2007, Vols 1 and 2, Volume, Issue, Mar 12-16, 2007, Pages 355-355.
- 161. Paul C.-P. Chao\*, Lun-De Liao, Ming-Hsun Chung and Jeng-Sheng Hunag, 2007, "Precision Positioning and Experimental Verification of a Parallel Piezo-Beam Lens Holder for Fine Track-Following in a Dual-Stage Actuator for Data Storage Devices," *The 17th Annual ASME Conference on Information Storage and Processing Systems*, held on June 18-19, 2007 at the Santa Clara University in California. (**EI Publication**)
- 162. Paul C.-P. Chao J.-Y. Shen and J.-S. Huang, 2007, "Deign and Experimental Verification of a Controller with Auto-Tuned Parameters for Precision Positioning of a Three-axis Optical Pickup," *The 17th Annual ASME Conference on Information Storage and Processing Systems*, held on June 18-19, 2007 at the Santa Clara University in California. (**EI Publication**)
- 163. C.-W. Chiu, Paul C.-P. Chao and J.-Y. Shen, 2007, "Design and Construction of an In-

- situ Inspection Machine for Ensuring the Dynamic Performance of Fluid Bearings in Data Storage Devices," *The 17th Annual ASME Conference on Information Storage and Processing Systems*, held on June 18-19, 2007 at the Santa Clara University in California. (**EI Publication**)
- 164. Yi-Ling Yang, Paul C.-P. Chao and Cheng-Kuo Sung, 2007, "Landing Posture Control of a Generalized Twin-body System via Methods of Input-output Linearization and Computed Torque," *Automation* 2007 held on June 13-14, 2007 in Taipei, Taiwan.
- 165. Chi-Wei Chiu, Chien-Yu Shen and Paul C.-P. Chao, "Novel Lens Design and Experimental Verification for High Efficiency Direct Type Backlight Module of LCD-TV," The 1<sup>st</sup> International Conference on Display for LEDs, Jan, 2007, Seoul, Korea.
- 166. Paul C.-P. Chao, Lun-De Liao, Chi-Wei Chiu, Jan, 2007, "Electromagnetic Numerical Characterization of the Liquid Crystal Lens Using Finite-Difference Time Domain Method," Asian Pacific Conference on Optics Manufacture, January, 2007, Hong Kong, China.
- 167. Chi-Wei Chiu, Chien-Yu Shen and Paul C.-P. Chao, Jan, 2007, "Novel Lens Design and Experimental Verification for High Efficiency Direct Type Backlight Module of LCD-TV," Asian Pacific Conference on Optics Manufacture, January, 2007, Hong Kong, China.
- 168. Paul C.-P. Chao, Lun-De Liao, Chi-Wei Chiu, 2007, "Electromagnetic Numerical Characterization of the Liquid Crystal Lens Using Finite-Difference Time Domain Method," Asian Pacific Conference on Optics Manufacture, January, 2007, Hong Kong, China.
- 169. Chi-Wei Chiu, Paul C.-P. Chao, and Din-Yuan Wu, 2007, "Optimal Design of Magnetic Actuated Optical Image Stabilization Mechanism for Cameras in Mobile Phones via Genetic Algorithm," *The 10th Joint MMM/Intermag Conference* to be held in Baltimore, Maryland on January 7-11, 2007. (**EI Publication**)
- 170. Paul C.-P. Chao and Yuan Hsu-Pang, 2007, "Magneto-Electro-Dynamical Modeling and Design of a Micro-Speaker Used for Mobile Phones with Considerations of Diaphragm Corrugation and Air Closures," *The 10th Joint MMM/Intermag Conference*, Baltimore, Maryland on January 7-11, 2007. (**EI Publication**)
- 171. Paul C.P. Chao and Sung-Ching Wu, 2007, "Optimal Design of Magnetic Zooming Mechanism Used in Cameras of Mobile Phones via Genetic Algorithm," *The 10th Joint MMM/Intermag Conference* in Baltimore, Maryland on January 7-11, 2007. (**EI Publication**)
- 172. Chi-Wei Chiu and Paul C.-P. Chao, 2006, "A Novel Method to Predict the Pull-in Voltage in a Closed Form for Deformed Micro-plates Actuated by a Distributed Electrostatic Force," *The 30-th National Conference on Theoretical and Applied Mechanics*, Dec., 2006, pp. 2136-2143, December 15-16, 2006, DYU, Changhwa, Taiwan, R.O.C.
- 173. Paul C.P. Chao and Ju-Ho Chen, 2006, "A novel microscopic inverse Preisach model embedded in finite elements used for precision positioning," *the 17<sup>th</sup> International Conference on Adaptive Structure Techniques*, Taipei, Taiwan, R. O. C.
- 174. Paul C.P. Chao and Chi-Wei Chiu, 2006, "The development of an on-line precision inspection machine for assuring the dynamic quality of the pick-ups used in optical disc drives," *National Conference on Non-destructive Inspection*, 2006, Taoyuan, Taiwan, R. O.

- 175. Paul C.P. Chao and Chi-Wei Chiu, "A novel precision inspection machine for assuring the dynamic quality of the pick-ups used in optical disc drives," *International Symposium on Precision Mechanical Measurements (ISPMM)*, 2006, SPIE Proceedings. (**EI Publication**)
- 176. Paul C.P. Chao and Chi-Wei Chiu, "Development of a precision inspection machine for assuring the dynamic quality of the pick-ups used in optical disc drives," the 2006 ASME/JSME Joint Conference on Micromechatronics for Information and Precision Equipment (MIPE 2006) to be held on June 21-23, 2006, at the Santa Clara University in California. (EI Publication)
- 177. Paul C.P. Chao\*, Cheng-Kuo Sung and Szu-Tuo Wu, "Non-planar modeling and experimental validation of a spindle-disk system equipped with an automatic balancer system in optical disc drives," the 2006 ASME/JSME Joint Conference on Micromechatronics for Information and Precision Equipment (MIPE 2006) held on June 21-23, 2006, at the Santa Clara University in California. (EI Publication)
- 178. Paul C. P. Chao and I.-T. Wang, "Modeling and Experimental Validation of a Microspeaker with Corrugated Diaphragm for Mobile Phones," the 2006 ASME/JSME Joint Conference on Micromechatronics for Information and Precision Equipment (MIPE 2006) held on June 21-23, 2006, at the Santa Clara University in California. (EI Publication)
- 179. Lun-De Liao, Paul C.-P. Chao and Chi-Wei Chiu, 2006, "Design of a Novel LED Lens Cap and Optimization of LED Placement in a Large Area Direct Backlight for LCD-TVs," in porc. of *Taiwan Optics Conference*, 9-10, Dec, 2006, Tainan, Taiwan.
- 180. Paul C.-P. Chao, Lun-De Liao and Chi-Wei Chiu, 2006, "Design of a Novel LED Lens Cap and Optimization of LED Placement in a Large Area Direct Backlight for LCD-TVs," in porc. of *SPIE Europe conference Photonics in Multimedia*, 3-7, April, 2006, Strasbourg, France, *Proc. of SPIE*, v 6196, *Photonics in Multimedia*, 2006, pp. 61960N. (**EI Publication**)
- 181. Paul C.-P. Chao\* and Chi-Wei Chiu, "Paul C.-P. Chao\* and Pen-Yen Liao, "Experiment validation of an observer-based ball re-positioning scheme for an auto-balancer system of DVD-ROMs," in proc. of *The 25<sup>th</sup> IASTED international conference on modeling, identification and control*, Feb, 2006, Spain. (**EI Publication**)
- 182. Jeng-Sheng Huang and Paul C.-P. Chao, Chi-Wei Chiu and J. Y. Wu-Chi, "Dynamic Formulation and Experimental Verification of a Piezo-Feeder," *The 29-th National Conference on Theoretical and Applied Mechanics*, pp. M029-1-8, Dec., 2005, Hsinchu, Taiwan.
- 183. Paul C.-P. Chao\*, Ben-Cheng Yo and Cheng-Kuo Sung, "Nonlinear Dynamic Effects of Damping Washers on the Performance of Automatic Ball Balancers in Optical Disc Drives," in proc. of *El-Naschie Symposium on Nonlinear Dynamics*, December 20-21, 2005, Shanghai, China.
- 184. Paul C.-P. Chao\* and Pen-Yen Liao, "A Novel Microscopic Modeling on Hysteresis Effects of Piezoelectric Structures with Assistance from Finite Elements," in proc. of *El-Naschie Symposium on Nonlinear Dynamics*, December 20-21, 2005, Shanghai, China.

- 185. Paul C.-P. Chao and Chi-Wei Chiu, "Nonlinear dynamic analysis on the MEMS microphones," in proc. of 2005 ASME International Mechanical Engineering Congress and Exposition, Nov.., 2005, Orlando, FL, USA. (EI Publication)
- 186. Paul C.-P. Chao, Cheng-Kuo Sung and Ben-Cheng Yo, "Effects of nonlinear washers on the automatic ball balancer for optical disk drives," in proc. of *ASME 2005 International Design Engineering Technical Conference*, 20<sup>th</sup> Biennial conference on Mechanical Vibration and Noise, Sept., 2005, Long Beach, CA, USA. (**EI Publication**)
- 187. Paul C.-P. Chao, Jeng-Sheng Huang, Chi-Wei Chiu and J. Y. Wu-Chi, "Dynamic Modeling and Experimental Verification of a parallel-beam piezo-feeder," in proc. of *ASME* 2005 International Design Engineering Technical Conference, 20<sup>th</sup> Biennial conference on Mechanical Vibration and Noise, Sept., 2005, Long Beach, CA, USA. (**EI Publication**)
- 188. Paul C.-P. Chao, Jeng-Sheng Huang, Chi-Wei Chiu and Chien-Yu Shen, "Design and experimental study of an observer-based controller for three-DOF four-wire-type optical pickup," in proc. of *American Control Conference*, 2005, Portland, Oregon, USA. (EI Publication)
- 189. Jeng-Sheng Huang and Paul C.-P. Chao, Chi-Wei Chiu and J. Y. Wu-Chi, "Dynamic Formulation and Experimental Verification of a Piezo-Feeder," *The 28-th National Conference on Theoretical and Applied Mechanics*, Dec., 2004, pp. 2136-2143, Taipei, Taiwan.
- 190. Paul C.-P. Chao, Jeng-Sheng Huang, Chi-Wei Chiu and Chien-Yu Shen, "Design and experimental study of an observer-based controller for three-DOF four-wire-type optical pickup," *CSME 21-th National Conference of Mechanical Engineering*, Dec., 2004, pp. 1353-1359, Taipei, Taiwan.
- 191. Ben-Cheng Yo, Cheng-Kuo Sung, and Paul C. P. Chao, "The effects of nonlinear suspension on the dynamic performance of the automatic ball balancer," *The 7-th National Conference on Mechanism and Machine Theory*, Nov., 2004, pp. 1-6, Tainan, Taiwan.
- 192. Paul C.-P. Chao, Cheng-Kuo Sung, Hui-Chung Leu and Chi-Wei Chiu, "Effects of Rolling Friction of the Balancing Balls on the Automatic Ball Balancer for Optical Disk Drives," *ASME/STLE International Joint Tribology Conference*, Oct. 2004, California, U. S. A., TRIB2004-64275. (**EI Publication**)
- 193. Paul C.-P. Chao, Jeng-Sheng Huang and Po-Wen Liu, "Calculating Rotordynamic Coefficients of a Ferrofluid-Lubricated and Herringbone-Grooved Journal Bearing via Finite Difference Analysis." *ASME/STLE International Joint Tribology Conference*, Oct. 2004, California, U. S. A., TRIB2004-64282. (**EI Publication**)
- 194. Paul C.-P. Chao, Cheng-Kuo Sung, Hui-Chung Leu, and Chi-Wei Chiu, "The Dynamic Effect of Rolling Resistance of the Balancing Ball on the Performance of Automatic Ball Balancer," *Eleventh International Congress on Sound and Vibration (ICSV11)*, July, 2004, St. Pertersburg, Russia, pp.2711-2718.
- 195. Ben-Cheng Yo, Cheng-Kuo Sung, and Paul C. P. Chao, "The effects of nonlinear suspension on the dynamic performance of the automatic ball balancer," *The 7-th National*

- Conference on Mechanism and Machine Theory, Nov., 2004, pp. 1-6, Tainan, Taiwan.
- 196. Chun-Chieh Wang, Cheng-Kuo Sung, and Paul C. P. Chao, "Measurement system for the vibrations of an optical disc drive equipped with the automatic balancer system," *NIDAYS conference*, March., 2003, pp. 1-7, Taipei, Taiwan.
- 197. Paul C. P. Chao, J. S. Huang and H. C. Tseng, "Dynamic Finite Element Analysis of a Piezoeletric Bimorph Beam Deflector with Consideration of Hysteresis Effect," *CSME 20-th National Conference of Mechanical Engineering*, Dec., 2003, Taipei, Taiwan.
- 198. Paul C. P. Chao, J. S. Huang and H. C. Tseng, "Dynamic Finite Element Analysis of a Piezoeletric Bimorph Beam Deflector with Consideration of Hysteresis Effect," *ASME 2003 International Design Engineering Technical Conference*, 19th Biennial conference on Mechanical Vibration and Noise, Sept., 2003, DETC2003/VIB48528, Chicago, USA. (EI Publication)
- 199. Chun-Chieh Wang, Cheng-Kuo Sung, and Paul C. P. Chao, "Dynamic analysis of the optical disk derive system equipped with an automatic ball balancer with consideration of torsional motion," *ASME 2003 International Design Engineering Technical Conference*, 19<sup>th</sup> Biennial conference on Mechanical Vibration and Noise, Sept., 2003, DETC2003/VIB48407, Chicago, USA. (**EI Publication**)
- 200. Paul C. P. Chao, Jeng-Sheng Huang, Rong-Fong Fung, and Cheng-Liang Lai, Dec, 2002, "Transverse Vibration Reduction of An Axially Moving String via Adjusting String Tension," *26<sup>th</sup> National Conference on Theoretical and Applied Mechanics*, Dec., 2002, Yunlin, Taiwan.
- 201. Cheng-Kuo Sung, Paul C. P. Chao, Szu-Tuo Wu and Chun-Chieh Wang, "Non-planar Modeling and Experimental Validation of an Automatic Ball Balancer System", *International Symposium on Experimental Mechanics*, Dec. 28-30, 2002, The Grand Hotel, Taipei, Taiwan.
- 202. Chun-Chieh Wang, Cheng-Kuo Sung and Paul C. P. Chao, Dec, 2002, "Extended Dynamic and Stability Analysis for Considering Torsional motions of ODD Spindle System Equipped with an Automatic Ball Balancer," 26<sup>th</sup> National Conference on Theoretical and Applied Mechanics, Dec., 2002, Yunlin, Taiwan.
- 203. C. L. Huang, Paul C. P. Chao and C. K. Sung, "Vibration Reduction of an Unbalanced Rotor System via an Ball-type Auto-Balancer System and a Fuzzy Control Scheme with a Sliding-mode observer," *CSME 19-th National Conference of Mechanical Engineering*, Nov., 2002, Yunlin, Taiwan.
- 204. Paul C. P. Chao, Jeng-Sheng Huang and Chia-Yun Shieh, "Impedance Control of a Single Axis Ball-screw Manipulator with On-line Compensation by Fuzzy Neural Network," *CSME 19-th National Conference of Mechanical Engineering*, Nov., 2002, Yunlin, Taiwan.
- 205. Paul C. P. Chao, Jeng-Sheng Huang, and Ju-Chen Cheng "Adaptive Identification of Creep Coefficients for a Scaled Railway Bogie," *CSME 19-th National Conference of Mechanical Engineering*, Nov., 2002, Yunlin, Taiwan.
- 206. Chun-Lung Huang, Chang-Po Chao, Cheng-Kuo Sung, "An Intelligent Control Scheme for Enhancing Performance of the Automatic Ball-type Balancer Installed on High-speed Optical Disc Drives", paper ID 82, 17th IEEE International Symposium on Intelligent Control,

- October 27-30, 2002, Vancouver, British Columbia, Canada, pp. 19-24. (EI Publication)
- 207. Paul C.-P. Chao, J.-S. Huang, C.-L. Lai, C.-L. Chang and Y.-S. Lan, "Nonlinear Dynamics Analysis and Actuation Strategy for a Three-axis Four-wire Type Optical Pickup," pp. 122, 2002 IEEE/ASME International Conference on Advanced Manufacturing Technology and Education in the 21<sup>st</sup> Century, National Chung-Cheng University, Chia-Yi, Taiwan, August 11–14, 2002. (EI Publication)
- 208. Paul C.-P. Chao, J.-S. Huang and C.-L. Lai, "Boundary control of an axially moving string via fuzzy sliding-mode control and fuzzy neural network methods," pp.1177-1188, *The 2002 International Symposium on Active Control of Sound and Vibration*, Institute of Sound and Vibration Research, University of Southampton, Southampton, United Kingdom, July 15–17, 2002.
- 209. Paul C.-P. Chao, J.-S. Huang and C.-L. Lai, "Robust Sliding-mode Control Design of a Four-wire-type Optical Lens Actuator for High-density CD/DVD Pickups," pp.899-910, *The 2002 International Symposium on Active Control of Sound and Vibration*, Institute of Sound and Vibration Research, University of Southampton, Southampton, United Kingdom, July 15–17, 2002.
- 210. Chun-Lung Huang, Chang-Po Chao, Cheng-Kuo Sung, "Reducing Radial Vibration of an Unbalanced Rotor System via an Auto-Balancer System and a Fuzzy Speed Controller," (CD-ROM, without page no.) July 8-11, 2002, paper ID 321, *The 9th International Congress* on Sound and Vibration, University of Central Florida, Orlando, Florida, U.S.A.
- 211. Chun-Lung Huang, Chang-Po Chao, Cheng-Kuo Sung, Dec, 2001, "Semi-active Vibration Control of a High Speed Optical Drive Equipped with an Auto-balancer System," *25<sup>th</sup> National Conference on Theoretical and Applied Mechanics*, Vol. 4, pp. 2231-2243, Taichung, Taiwan.
- 212. Chang-Po Chao, Cheng-Kuo Sung, Yaw-Der Huang, Stz-Tuo Wu, Chun-Chieh Wang, Dec, 2001, "A Three-Dimensional Dynamic Analysis on the Rotor System Equipped with an Automatic Balancer System with a Pair of Balls," 25<sup>th</sup> National Conference on Theoretical and Applied Mechanics, Vol. 4, pp. 2391-2403, Taichung, Taiwan.
- 213. Jeng-Sheng Huang, Chang-Po Chao, Lifu Chen, Jing-Hong Chiou and Ching-Liang Dai, "Design and Fabrication of CMOS micromotor," *CSME 18-th National Conference of Mechanical Engineering*, Vol. 4, pp. 115-120, Dec. 2001, Taipei, Taiwan.
- 214. Jeng-Sheng Huang, Chang-Po Chao, Rong-Fong Fung and Chien-Hsueh Chen, "Optimal Design of an Ultrasonic Resonator by Finite element Modeling and Taguchi Analysis," *CSME 18-th National Conference of Mechanical Engineering*, Vol. 3, pp. 335-342, Dec. 2001, Taipei, Taiwan.
- 215. Cheng-Liang Lai, Jeng-Sheng Huang and Chang-Po Chao, "Parametric Control of an Axially Moving String," (CD-ROM, without page no.) *ASME 18-th Biennial Conference on Mechanical Vibration and Noise*, Sep. 2001, Pittsburgh, vol. 6A, pp. 1015-1022. (**EI Publication**)
- 216. Chun-Lung Huang, Chang-Po Chao and Cheng-Kuo Sung, "Semi-active Vibration

- Control of a High Speed Optic Drive Equipped with an Auto-balancer System," (CD-ROM, without page no.) *ASME 18-th Biennial Conference on Mechanical Vibration and Noise*, Sep. 2001, Pittsburgh, U.S.A vol. 6A, pp. 1032-1036. (**EI Publication**)
- 217. Chang-Po Chao, Jeng-Sheng Huang, Rong-Fong Fung and Ching-Lung Ou Yang, "Optimal Control Design of a Bimorph Optical Beam Deflector," (CD-ROM, without page no.) *ASME 18-th Biennial Conference on Mechanical Vibration and Noise*, Sep. 2001, Pittsburgh, U.S.A, vol. 6A, pp. 1009-1014. (**EI Publication**)
- 218. Yaw-Der Huang, Paul C.-P. Chao and Cheng-Kuo Sung, "A Three-Dimensional Dynamic Analysis for an ABB with Consideration of Bearing Clearance of the Spindle Motor," 12<sup>th</sup> Annual Symposium on Information Storage and Processing Systems, June28-29, 2001, Santa Clara, CA, U.S.A. (bound, volume, no page no.) (EI Publication)
- 219. Wei-Yu Huang, Jaan-Rong Kang, Cheng-Kuo Sung and Chang-Po Chao, Dec, 2000, "An Application of Ball-Type Balancers on Radial Vibration Reduction of High-Speed Optic Disk Drives," (CD-ROM, without page no.) *CSME 17<sup>th</sup> National Conference of Mechanical Engineering*, Kaoshiung, Taiwan.
- 220. Y. Kang, C. P. Chao, S. C. Jen, S. S. Shyr, C. C. Chou, Y. P. Chang, Dec, 2000, "An Integration Method for the Response Observation of Nonlinear Mechanical Systems Subjected to Double Excitations," pp. ATM24/G-1~ATM24/G-3, 24<sup>th</sup> National Conference on Theoretical and Applied Mechanics, Chung-Li, Taiwan.
- 221. Y. Kang, S. S. Shyr, C. P. Chao, C. C. Chou, Y. F. Chang, Dec, 2000, "Periodicity in Average History of Chaotic Oscillators," pp. ATM24/G-4~ATM24/G-8, 24<sup>th</sup> National Conference on Theoretical and Applied Mechanics, Chung-Li, Taiwan.
- 222. Jaan-Rong Kang, Chang-Po Chao, Chun-Lung Huang, Cheng-Kuo Sung, Dec, 2000, "The Dynamics of a Ball-Type Balancer System Equipped with a Pair of Free-Moving Balancing Masses," pp. ATM24/J-173~ATM24/J-180, 24<sup>th</sup> National Conference on Theoretical and Applied Mechanics, Chung-Li, Taiwan. NSC 89-2218-E007-022.
- 223. Chang-Po Chao and Steven W. Shaw, "Dynamically Stable Nonlinear Modes of Multiple Subharmonic Torsional Vibration Absorbers," Sep, 1999, DETC99-VIB8073 (CD-ROM, without page no.), 17th ASME Biennial Conference on Mechanical Vibration and Noise, Las Vegas, Navada. (EI Publication)
- 224. Steven W. Shaw, Vishal Garg and Chang-Po Chao, 1997, "Attenuation of Engine Torsional Vibration Using Tuned Absorbers," *SAE Noise and Vibration Conference and Exposition*, Vol. 2, pp. 713-722. (**EI Publication**)
- 225. Chang-Po Chao and Steven W. Shaw, CA, Sep 9-13, 1997, "Nonlinear Localization in Systems of Tautochronic Vibration Absorbers," DET97VIB3956 (CD-ROM, without page no.), 16th ASME Biennial Conference on Mechanical Vibration and Noise, Sacramento. (EI Publication)
- 226. Yenkai Wang, Steven W. Shaw and Chang-Po Chao, Sep 9-13, 1997, "Design of Pendulum Absorbers for Transverse Vibration Attenuation of Rotating Beams," DET97VIB4182 (CD-ROM, without page no.), 16th ASME Biennial Conference on

Mechanical Vibration and Noise, Sacramento, CA. (EI Publication)

- 227. Chang-Po Chao and Steven W. Shaw, Sep 9-13, 1997, "On the Effects of Imperfections and Mistunings of Subharmonic Absorber Paths," DET97VIB4104 (CD-ROM, without page no.), 16th ASME Biennial Conference on Mechanical Vibration and Noise, Sacramento, CA. (EI Publication)
- 228. Steven W. Shaw, Chang-Po Chao and Cheng-Tang Lee, 1997, "Nonlinear Dynamics and the Design of Centrifugal Pendulum Vibration Absorbers," *Proceedings of ITUAM Symposium on Nonlinear Dynamics and Chaos in Mechanics*, page no.202-220.
- 229. Chang-Po Chao, Steven W. Shaw and Cheng-Tang Lee, Sept 9-13, 1996, "On the Dynamics of a System with Multiple Centrifugal Pendulum Vibration Absorbers," (bound volume, without page no.) 6<sup>th</sup> Conference on Nonlinear Vibrations, Stability, and Dynamics of Structures, Virginia Tech, Blacksburg, Virginia, U.S.A.
- 230. Steven W. Shaw and Chang-Po Chao, 1996, "On the Dynamics of Systems with Multiple Centrifugal Pendulum Vibration Absorbers Stability and Bifurcation of the Unison Response," 2<sup>nd</sup> European Nonlinear Oscillations Conference, Prague, Czechoslovakia, Vol. 1, pp 395-400.
- 231. Philip M. FitzSimons and Chang-Po Chao, November, 1994, Chicago, "Choosing the Best Conic Sector Bounds to Characterize System Nonlinearity," ASME Winter Annual Meeting, DSC-Vol. 55-1. Dynamics System and Control: Vol. 1, pp. 61-69. (**EI Publication**)

#### 專書及專書論文:

- 1. 趙昌博,賴政良, "光機電伺服系統概論", (教育部光機電中心補助撰寫), 2005.
- 2. Y. Kang and Chang-Po Chao, "An Integration Method for Response Observation of Nonlinear Mechanical Systems Subjected to Double Excitations," in the book of *Applicable Mathematics: Its Perspectives and Challenges, Editor J. C. Misra, Narosa Publishing House*, 2001, pp. 163-170.
- 3. Chang-Po Chao, June, 1997, "On the Nonlinear Dynamics of a rotating system attached with multiple centrifugal pendulum vibration absorbers," *Ph.D. Dissertation*, Michigan State University.
- 4. Chang-Po Chao, August, 1993, "Modeling a Radio Control Scale Helicopter for Robust Control Design," *Master Thesis*, Michigan State University.

## 技術報告及其他:

- 1. Steven W. Shaw and Chang-Po Chao, March, 20, 1996, "Estimation of the Required Absorber Inertia for Use on I3 Diesel Engine," submitted to Ford Motor Company in Dearborn.
- 2. 趙昌博,"光碟機主動式減振裝置",經濟部科技研究發展專案計畫成果報告。
- 3. 趙昌博,"軌道車輛的動力分析及電腦模擬系統之建立", 行政院國家科學委員會補助專題研究計畫成果報告,NSC89-2212-E-161-003。
- 4. 趙昌博,"高速軌道車輛系統轉向架設計與系統鑑別", 行政院國家科學委員會補助專

題研究計畫成果報告,NSC89-2218-E-033-024。

- 5. 趙昌博,"六軸工具機伺服控制系統開發", 行政院國家科學委員會補助專題研究計畫成果報告,NSC 90-2212-E033-010。
- 6. 趙昌博,"光碟機主動式減振裝置",工研院光電所結案報告。
- 7. 趙昌博,"二維影像處理技術應用在精密齒型量測上之研究",中科院結案報告。
- 8. 趙昌博,"顯微干涉技術",工研院量測中心結案報告。
- 9. 趙昌博,"子計畫二:創新半主動式自動平衡裝置之設計分析與驗證 (1/3)", 行政院 國家科學委員會補助專題研究計畫進度報告,NSC 91-2212-E-033-004。
- 10. 趙昌博,"薄殼電子產品撞擊之模擬與分析",行政院國家科學委員會補助專題研究計畫成果報告,NSC 91-2622-E-033-014。
- 11. 趙昌博,"超高解析度致動器之控制系統設計",工研院光電所結案報告。
- 12. 趙昌博,"微小發電機應用系統研究",工研院機械所結案報告。
- 13. 趙昌博,"子計畫二:創新半主動式自動平衡裝置之設計分析與驗證 (2/3)", 行政院 國家科學委員會補助專題研究計畫進度報告,NSC 92-2212-E-033-001。
- 14. 趙昌博,"微揚聲器之薄膜振動與音場分析",侯門行結案報告。
- 15. 趙昌博,"微揚聲器之薄膜振動與音場分析",行政院國家科學委員會補助專題研究計畫進度報告,NSC 92-2622-E-033-014。
- 16. 趙昌博,"微型麥克風設計與製作", 經濟部工業局結案報告。
- 17. 趙昌博,"光學讀寫頭自動調變控制器",工研院機械所結案報告。
- 18. 趙昌博,"子計畫二:創新半主動式自動平衡裝置之設計分析與驗證 (3/3)", 行政院 國家科學委員會補助專題研究計畫結案報告,NSC 93-2212-E-033-001。
- 19. 趙昌博, "LED光源微結構及其最佳化設計-直下式LED背光模組之解決方案", 友達影像顯示專題競賽獎計畫結案報告。
- 20. 趙昌博,"咖啡機噪音分析與進給機構設計", UCHI結案報告。
- 21. 趙昌博, "微揚聲器之機磁電動態建模、實驗驗證與優化", 行政院國家科學委員會補助專題研究計畫結案報告, NSC 94-2622-E-033-001-CC3。
- 22. 趙昌博,"微奈米系統特性分析、設計製造與光電檢測技術之建置與研究-子計畫三:具即時即時監測功能之奈微米光機電檢測及操作系統關鍵技術研究(1/3)", 行政院國家科學委員會補助專題研究計畫結案報告,NSC 94-2212-E-033-001。
- 23. 趙昌博,"次世代光碟機關鍵技術研究--子計畫四:具參數自動調變功能之智慧型光學 讀寫頭伺服系統研究與實現(1/3)",行政院國家科學委員會補助專題研究計畫結案報告, NSC 94-2212-E-033-010。
- 24. 趙昌博,"微奈米系統特性分析、設計製造與光電檢測技術之建置與研究-子計畫三:具即時即時監測功能之奈微米光機電檢測及操作系統關鍵技術研究(2/3)",行政院國家

科學委員會補助專題研究計畫結案報告,NSC 95-2212-E-033-001。

- 25. 趙昌博,"次世代光碟機關鍵技術研究--子計畫四:具參數自動調變功能之智慧型光學 讀寫頭伺服系統研究與實現(2/3)",行政院國家科學委員會補助專題研究計畫結案報告, NSC 95-2212-E-033-010。
- 26. 趙昌博,"LCD背光模組之LED光源結構設計與系統最佳化",友達結案報告。
- 27. 趙昌博,"微奈米系統特性分析、設計製造與光電檢測技術之建置與研究-子計畫三:具即時即時監測功能之奈微米光機電檢測及操作系統關鍵技術研究(3/3)", 行政院國家科學委員會補助專題研究計畫結案報告,NSC 96-2212-E-033-001。
- 28. 趙昌博,"次世代光碟機關鍵技術研究--子計畫四:具參數自動調變功能之智慧型光學 讀寫頭伺服系統研究與實現(3/3)",行政院國家科學委員會補助專題研究計畫結案報告, NSC 96-2212-E-033-010。